
P R I C E S  2024
02,01,2024

The plough polish  OSKAR
1 The chisel P – opening square 1023/02059/P/K 1,5 5,13

2 The chisel P – openings conical 1023/02059/P/S 1,5 5,13

3 The chisel L – openings conical 1023/02059/L/S 1,5 5,13

4 The chisel 1023/P  HARDOX500 102302059/P H500 1,3 9,60

5 The chisel 1023/L  HARDOX500 102302059/L H500 1,3 9,60

6 The share 1/S 1023/02053/1 5,5 14,11

7 The share P 8mm HARDOX500 102302053/P-8 4,1 33,16

8 The share P 10mm HARDOX500 102302053/P-10 4,9 38,01

9 The share 1/S fat to the chisel 1023/02053/Gd 6 15,11

10 The share 4/S 1023/02053/4 4,1 10,34

11 The breast of the moldboard P 250HB 102302003/P 250HB 2,5 10,39

12 The short slade 1023/020081/S 3,5 7,58

13 The long slade 1023/020070/S 4,3 8,34

14 The cutter P 1024/020071/S 3,2 7,93

15 The support of the share 1023/02000/S 1 2,50

16 Moldboard P  250HB 1023020040/P 250HB 9 30,95
To the plough   ATLAS

1 The chisel 12mm openings conical 1,7 6,71

2 The chisel 12mm openings square 1,7 6,71

3 The share 1/S 1101/403000/1 6,5 17,24

4 The share P HARDOX500 11014030001/P 6,4 49,42

5 The share 1/S fat 1101/403000/G 7,5 18,15

6 The share 1/S AT to the chisel 1101/403000/Gd 7,5 18,15

7 The breast of the moldboard P 1024  250HB 1024020030/P 250HB 3,3 12,47

8 The short slade 1109/20004/S 3,4 7,53

9 The long slade 1109/30001/S 3,9 8,34

10 The lap 1109/20005/S 1,6 3,99

To the plough   AKPIL
1 The share P 10mm HARDOX500 1023/02053/P-10 4,9 38,01

2 The share L 10mm HARDOX500 1023/02053/L-10 4,9 38,01

3 The share P HARDOX500 1023/02053/Gd/P 6 47,65

4 The share L HARDOX500 1023/02053/Gd/L 6 47,65

5 The share P HARDOX500 LK200105A/P 6,8 53,76

6 The share L HARDOX500 LK200106A/L 6,8 53,76

7 The breast of the moldboard P HARDOX500 303540/P 2,6 21,28

8 The breast of the moldboard P HARDOX500 NPŁ114-1/P 2,8 22,30

9 The cutter P HARDOX500 AKPIL 2,6 19,57

To the plough   STALTECH
1 The chisel P HARDOX500 do STALTECH 1,4 11,97

2 The share P HARDOX500 do STALTECH 5,6 46,05
3 The breast P HARDOX500 do STALTECH 2,4 19,51
4 The cutter P HARDOX500 do STALTECH 3,2 26,97
5 The slade P  HARDOX500 do STALTECH 4,1 28,49
6 The lap P/L HARDOX500 do STALTECH 2,2 16,61

Weight          
[kg]

Net price              

EUR
The symbolThe name of the spare part

Zakład Produkcji Lemieszy Stankiewicz Sp. J.
ul. Brylantowa 5,  16 - 400 Suwałki

tel/fax   87 5654202,  mobile 502083981
NIP 8441658827        Regon 790289000

www.lemiesze.pl                                                                                        e-mail : lemiesze@lemiesze.pl



To the plough   FAMAROL
1 The share P/L HARDOX500 11240400001/S 5,9 45,37
2 The share P/L HARDOX500 11250600003/S 5,8 44,60
3 The breast P/L HARDOX500 1125060020/S 1,8 20,27
4 The short slade P/L  HARDOX500 11250060045/S 2,2 16,47

To the plough   AGROMASZ
1 The breast P HARDOX500 PL00249/P 1,5 16,50
2 The breast L HARDOX500 PL00248/L 1,5 16,50
3 The short slade P/L 18" HARDOX500 PL00327/S 6,7 48,17

To the plough   EUROMASZ
1 The long slade P/L 20" HARDOX500 long 20" 7,6 53,85

To the plough   METAL FACH
1 The long slade P HARDOX500 U034/P 5,3 37,99

The first ploughing plough
1 The share 2/S 1025 3,2 8,34

To the plough  UNIA
1 The chisel 12mm right 1067911010/12/P 1,6 6,71

2 The chisel P 15mm 1067911010/15/P 2,2 8,80

3 The chisel L 15mm 1067911010/15/L 2,2 8,80

4 The chisel P  HARDOX500 2 opening 1067911010/P 1,7 12,69

5 The chisel L  HARDOX500 2 opening 1067921010/L 1,7 12,69

6 The chisel P  HARDOX500 3 opening 1067911011/P 1,8 14,59

7 The chisel L  HARDOX500  3 opening 1067921011/L 1,8 14,59

8 The chisel P  HARDOX500  3 opening 1150712010/P 1,4 11,91

9 The chisel L  HARDOX500  3 opening 1150722010/L 1,4 11,91

10 The share 1/S 1126/50500/0/1 5,5 14,11

11 The share 1/S lengthened 1126/505000/1p 6 15,11

12 The share 1/S fat to the chisel 1117511500/Gd 6 15,11

13 The share R HARDOX500 1117/51-150/0/P 6 43,00

14 The share L HARDOX500 1117/61-150/0/L 6 43,00

15 The share R HARDOX500 1150712500/P 6,3 47,49

16 The share L HARDOX500 1150722500/L 6,3 47,49

17 The share R HARDOX500 1067/91-100/0/P 6,8 47,29

18 The share L HARDOX500 1067/92-100/0/L 6,8 47,29

19 The share R HARDOX500 PO1188/P 6,9 54,48

20 The share L HARDOX500 PO1192/L 6,9 54,48

21 The breast P HARDOX500 1036700020/P 2,1 17,74

22 The breast P HARDOX500 1126500030/P 2,1 17,74

23 The breast L HARDOX500 1126600030/L 2,1 17,74

24 The breast P HARDOX500 1150930020/P 1,8 15,71

25 The breast L HARDOX500 1150940020/L 1,8 15,71

26 The breast P HARDOX500 PO1702/P 2,2 18,25

27 The breast L HARDOX500 PO1711/L 2,2 18,25

28 The breast P HARDOX500 1067910020/P 2 16,98

29 The breast L HARDOX500 1067920020/L 2 16,98

30 The breast P HARDOX500 1153210020/P 1,8 17,86

31 The breast L HARDOX500 1153220020/L 1,8 17,86
32 The cutter P HARDOX500 1067910070/P 3,8 32,29
33 The cutter L HARDOX500 1067920040/L 3,8 32,29

34 The cutter P HARDOX500
PO1513/P 

1153210060/P
3,2 26,97

35 The cutter L HARDOX500
PO1524/L   

1153220050/L
3,2 26,97

36 The short slade P HARDOX500 1067/91-003/0/P 4,1 24,42

37 The short slade L HARDOX500 1067/92-003/0/L 4,1 24,42



38 The long slade P HARDOX500 1067/93-001/0/P 5,1 33,15

39 The long slade L HARDOX500 1067/94-001/0/L 5,1 33,15

40 The short slade P HARDOX500 1116/71-002/0/P 3,6 21,98

41 The short slade L HARDOX500 1116/72-001/0/L 3,6 21,98

42 The long slade P HARDOX500 1116/73-001/0/P 4,4 26,17

43 The long slade L HARDOX500 1116/74-001/0/L 4,4 26,17

44 The long slade P HARDOX500 PO1703/P 6,9 46,12

45 The long slade L HARDOX500 PO1712/L 6,9 46,12

46 The long slade P HARDOX500 PO1879/P 4,1 28,49

47 The long slade L HARDOX500 PO1895/L 4,1 28,49

48 The long slade P HARDOX500 1150930030/P 5,1 34,21

49 The long slade L HARDOX500 1150940030/L 5,1 34,21

50 The back plate of the slade T HARDOX500 1067/93002/0/S 3,6 24,58

51 The lap P HARDOX500 1126/70-002/0/P 1,8 13,18

52 The lap L HARDOX500 1117/81-001/0/L 1,8 13,18

53 The front lap P HARDOX500 1127/21-003/0/P 1,2 9,38

54 The front lap L HARDOX500 1127/22-002/0/L 1,2 9,38

The  Meadow   plough
1 The share P HARDOX500 8,4 64,62

To the cultivator  KOS
1 The share P HARDOX500 AP87/P 1,8 14,58

2 The share L HARDOX500 AP88/L 1,8 14,58

3 The central cutter HARDOX500 AP702/S 1,5 15,20

4 The central cutter HARDOX500 173805002/S 1,9 17,74

5 The beak of the coulter  HARDOX500 AP701/S 2,7 24,07

6 The beak of the coulter  HARDOX500 1738050010/S 2,1 18,05
To the CZECH plough   PHX

1 The share 1/S 40430767/1 5,5 14,11

2 The share P HARDOX500 40430767/P 5,2 41,45

3 The share 1/S fat to the chisel 40430767/Gd 6 15,11

4 The share P fat to the chisel HARDOX500 40430767/PGd 5,7 45,19

5 The share L fat to the chisel HARDOX500 40430767/LGd 5,7 45,19

6 The share 4/S 40430767/4 4,1 10,34

7 The short slade P  HARDOX500 40300197/P 3,8 25,85

8 The long slade P  HARDOX500 40300167/P 4,6 30,92

To the plough   B200,  FORTSCHRITT
1 The share 1/S 1023/020569/1 5,5 14,11

2 The share P HARDOX500 1023020569/P 5,2 41,45

3 The share L HARDOX500 1023020569/L 5,2 41,45

4 The share P fat to the chisel HARDOX500 1023020569/PGd 5,5 43,58

5 The share L fat to the chisel HARDOX500 1023020569/LGd 5,5 43,58

6 The breast P HARDOX500 9210088/P 3,3 22,22

7 The long slade P  HARDOX500 9210158/P 4,3 29,40

8 The short slade P  HARDOX500 9210171/P 2,2 15,71

9 The long slade P  HARDOX500 9210172/P 3,7 25,34

The  RUSSIAN PLN   plough
1 The share 1/S PNC 702 5,5 15,88

2 The share 4/S PNC 702/4 4,7 11,68

3 The narrow slade  HARDOX500 PNC 502 2,5 18,20

4 The wide slade  HARDOX500 PLZ 51.501 4,4 30,87

The plough Ukrainian
1 The chisel PGC11.409 4,3 13,65

2 The share 1/S 701 PGC01.701 4,5 10,34

3 The wide slade  HARDOX500 PGC61.200 5,3 36,74



The plough Belorussian
1 The share P ПЛП01.007 3,3 11,62

The plough Yugoslavian
1 The share 1/S 260937/1 4,2 10,70

2 The share 1/S 260938/1 4,9 12,48

3 The share 1/S BFS-IMT 5,6 14,49
To the plough  KVERNELAND

1 The chisel P 053090/P 1,5 5,12

2 The chisel L 063090//L 1,5 5,12

3 The chisel P HARDOX500 053090/P B38 1,4 7,81

4 The chisel L HARDOX500 063090//L 1,4 7,81

5 The share P HARDOX500 053085/P 5 39,97

6 The share P HARDOX500 053087/P 5,3 42,35

7 The share P HARDOX500 053088/P 5,9 43,69

8 The share P HARDOX500 053089/P 5,7 43,69

9 The share P HARDOX500 063014/P 5,2 41,33

10 The share L HARDOX500 063017/L 5,2 41,33

11 The share P 063015/S 25 6,8 18,96

12 The share P HARDOX500 063015/P 5,7 43,50

13 The share L HARDOX500 063018/L 5,7 43,50

14 The share P HARDOX500 063016/P 6,7 51,10

15 The share L HARDOX500 063019/L 6,7 51,10

16 The share P HARDOX500 073002/P 5,3 42,39

17 The share L HARDOX500 073003/L 5,3 42,39

18 The share P 073004/P 25 6,8 18,96

19 The share P HARDOX500 073004/P 50 5,8 43,50

20 The share L 073005/L 25 6,8 18,96

21 The share L HARDOX500 073005/L 50 5,8 43,50

22 The share P 073006/P 25 7,9 20,41

23 The share P HARDOX500 073006/P 50 6,5 44,26

24 The share L 073007/L 25 7,9 20,41

25 The share L HARDOX500 073007/L 50 6,5 44,26

26 The share P HARDOX500 073008/P 6,9 54,83

27 The share L HARDOX500 073009/L 6,9 54,83

28 The share P HARDOX500 073056/P 5,7 45,38

29 The share L HARDOX500 073057/L 5,7 45,38

30 The share P HARDOX500 073080/P 6,5 51,66

31 The share L HARDOX500 073081/L 6,5 51,66

32 The skim share P HARDOX500 056873/P 1,1 11,28

33 The skim share L HARDOX500 066873/L 1,1 11,28

34 The skim share P HARDOX500 066868/P 1,5 14,21

35 The skim share L HARDOX500 066869/L 1,5 14,21

36 The breast P HARDOX500 063240/P 1 11,78

37 The breast L HARDOX500 063250/L 1 11,78

38 The breast P 073250/P 25 1,5 6,41

39 The breast P HARDOX500 073250/P 1,4 14,63

40 The breast L 073251/L 25 1,5 6,41

41 The breast L HARDOX500 073251/L 1,4 14,63

42 The breast P 073256/P 25 1,7 7,05

43 The breast P HARDOX500 073256/P 1,6 16,88

44 The breast L 073257/L 25 1,7 7,05

45 The breast L HARDOX500 073257/L 1,6 16,88

46 The breast P HARDOX500 073230/P 1,8 17,10

47 The breast L HARDOX500 073231/L 1,8 17,10



48 The breast P HARDOX500 073241/P 2,5 21,89

49 The breast L HARDOX500 073242/L 2,5 21,89

50 The breast P HARDOX500 073272/P 2,2 19,81

51 The breast L HARDOX500 073273/L 2,2 19,81

52 The cutter P HARDOX500 063300/P  073300/P 3,2 24,69

53 The cutter L HARDOX500 063301/L  073301/L 3,2 24,69

54 The cutter P HARDOX500 053362/P 3,6 27,92

55 Holder P HARDOX400 063310/P 2,2 15,58

56 Holder L HARDOX400 063311/L 2,2 15,58

57 Back slat of moldboard P HARDOX500 053380/P 1,9 13,43

58 Back slat of moldboard P HARDOX500 053387/P 2 13,43

59 Back slat of moldboard L HARDOX500 063388/L 2 13,43

60 Holder of share P HARDOX500 073414/P 0,2 4,56

61 Holder of share L HARDOX500 073415/L 0,2 4,56

62 Knife of share P HARDOX450 073091/P 0,8 13,30

63 Knife of share L HARDOX450 073092/L 0,8 13,30

64 Knife of slade P HARDOX500 073088/P 3,4 28,40

65 Knife of slade L HARDOX500 073089/L 3,4 28,40

66 Knife of slade P HARDOX500 084320/P 3,4 30,70

67 Knife of slade L HARDOX500 084321/L 3,4 30,70

68 The long slade P HARDOX500 053665/P 7,7 53,29

69 The short slade P HARDOX500 053681/P 4,2 29,94

70 The long slade P HARDOX500 053685/P 7,5 51,81

71 The short slade P HARDOX500 053684/P 5,2 36,06

72 The long slade P HARDOX500 053683/P 7,1 49,39

73 The short slade P HARDOX500 063602/P 4,8 33,34

74 The long slade P HARDOX500 063601/P 7,5 51,36

75 The short slade P HARDOX500 063605/P  063615/P 4,3 30,13

76 The short slade L HARDOX500 063606/L  063616/L 4,3 30,13

77 The long slade P HARDOX500 063603/P  063613/P 6,2 43,12

78 The long slade L HARDOX500 063604/L  0636014/L 6,2 43,12

79 Internal slat P  HARDOX500 063607/P 3,2 23,32

80 The internal slat P HARDOX500 063608/P 1,8 14,21

81 The internal slat L HARDOX500 063609/L 1,8 14,21

82 The short slade R/L HARDOX500 063610/S 5,5 37,90

83 The long slade R/L HARDOX500 063611/S 8,3 55,09

84 The slade R/L HARDOX500 073600/S 5,4 37,19

85 The short slade P HARDOX500 073600/P 6,5 47,12

86 The short slade L HARDOX500 073601/L 6,5 47,12

87 The long slade P  HARDOX500 073604/P 9,3 64,09

88 The long slade L  HARDOX500 073605/L 9,3 64,09

89 The short slade R/L HARDOX500 073608/S 5,35 35,94

90 The long slade R/L HARDOX500 073609/S 7,8 48,05

91 The slade R HARDOX500 073612/P 8 55,09
92 The lap R/L HARDOX500 063600A/S 1,4 11,15

93 The lap R/L HARDOX500 063601A/S 3,7 29,27

94 The lap HARDOX500 073614/S 1 8,36

95 Skim mouldboard P HARDOX450 056853/P 1,6 18,05
96 Skim mouldboard P HARDOX450 066880/P 1,4 16,75
97 Skim mouldboard L HARDOX450 066881/L 1,4 16,75

To the ploughing aggregate KVERNELAND
1 The share P HARDOX500 131124/P 2,1 17,23

2 The share L HARDOX500 131125/L 2,1 17,23

3 The share P HARDOX500 301446/P 2,4 19,05



4 The share L HARDOX500 301447/L 2,4 19,05
To the plough  LEMKEN

1 The chisel P  HARDOX500 3363980/P 1,7 14,19
2 The chisel L  HARDOX500 3363981/L 1,7 14,19

3 The chisel P  HARDOX500 3363986/P 2 16,20

4 The chisel L  HARDOX500 3363987/L 2 16,20

5 The chisel P  HARDOX500 3364050/P 3364150/P 2 19,19

6 The chisel L  HARDOX500 3364051/L 3364151/L 2 19,19

7 The chisel P  HARDOX500 3364054/P 2,1 20,23

8 The chisel L  HARDOX500 3364055/L 2,1 20,23

9 The chisel P  HARDOX500 3365534/P 1,4 11,97

10 The chisel L  HARDOX500 3365535/L 1,4 11,97

11 The chisel P  HARDOX500 3365540/P 2,2 17,47

12 The chisel L  HARDOX500 3365541/L 2,2 17,47

13 The share P HARDOX500 3353742/P 1,9 16,99

14 The share L HARDOX500 3353743/L 1,9 16,99

15 The share 14” P HARDOX500 3351956/P 2,8 23,49

16 The share 14” L HARDOX500 3351957/L 2,8 23,49

17 The share 16” P HARDOX500 3351958/P 3,8 29,90

18 The share 16” L HARDOX500 3351959/L 3,8 29,90

19 The share P HARDOX500 3352010/P 3,1 26,65

20 The share L HARDOX500 3352011/L 3,1 26,65

21 The share P HARDOX500 3352020/P 3,7 30,47

22 The share L HARDOX500 3352021/L 3,7 30,47

23 The share 18” P HARDOX500 3352030/P 4,1 33,51

24 The share 18” L HARDOX500 3352031/L 4,1 33,51

25 The share 20” P HARDOX500 3352134/P 5,2 41,88

26 The share 20” L HARDOX500 3352135/L 5,2 41,88

27 The share 20” P HARDOX500 3352138/P 5,5 46,07

28 The share 20” L HARDOX500 3352139/L 5,5 46,07

29 The share P HARDOX500 3335032/P 6,6 52,07

30 The share L HARDOX500 3335033/L 6,6 52,07

31 The share P HARDOX500 3335036/P 6,8 53,76

32 The share L HARDOX500 3335037/L 6,8 53,76
33 The share P HARDOX500 3333770/P  3333802/P 4,2 34,27
34 The share L HARDOX500 3333771/L  3333803/L 4,2 34,27

35 The share P HARDOX500 3333804/P 6 47,20

36 The share L HARDOX500 3333805/L 6 47,20

37 The share P HARDOX500 3333810/P 5,3 42,04

38 The share L HARDOX500 3333811/L 5,3 42,04

39 The share P HARDOX500 3333812/P 5,9 46,51

40 The share L HARDOX500 3333813/L 5,9 46,51

41 The share P HARDOX500 3334050/P 5,2 41,18

42 The share L HARDOX500 3334051/L 5,2 41,18

43 The share P HARDOX500 3334056/P 6,2 48,97

44 The share L HARDOX500 3334057/L 6,2 48,97

45 The share P HARDOX500 3333818/P 4,6 36,98

46 The share L HARDOX500 3333819/L 4,6 36,98

47 The share P HARDOX500 3333820/P 5,3 42,29

48 The share L HARDOX500 3333821/L 5,3 42,29

49 The share P HARDOX500 3334024/P 3,3 27,87

50 The skim share P HARDOX500 3363712/P 0,9 10,83

51 The skim share L HARDOX500 3363713/L 0,9 10,83

52 The skim share P HARDOX500 3363714/P 1 10,83



53 The skim share L HARDOX500 3363715/L 1 10,83

54 The skim share P HARDOX500 3363720P 1,1 11,28

55 The skim share L HARDOX500 3363721/L 1,1 11,28

56 The skim share P HARDOX500 3363710/P 1,4 13,68

57 The skim share L HARDOX500 3363711/L 1,4 13,68

58 The skim share P/L HARDOX500 3363724/S 1,7 17,10

59 The breast P HARDOX500 3450498/P 1,7 16,82

60 The breast L HARDOX500 3450499/L 1,7 16,82

61 The breast P HARDOX500 3450520/P 1,9 18,05

62 The breast L HARDOX500 3450521/L 1,9 18,05

63 The breast P HARDOX500 3450522/P 2 19,01

64 The breast L HARDOX500 3450523/L 2 19,01

65 The breast P HARDOX500 3450524/P 2,2 20,27

66 The breast L HARDOX500 3450525/L 2,2 20,27

67 The breast P HARDOX500 3450528/P 1,7 16,75

68 The breast L HARDOX500 3450529/L 1,7 16,75

69 The breast P HARDOX500 3450532/P 2,1 19,00

70 The breast L HARDOX500 3450533/L 2,1 19,00

71 The breast P HARDOX500 3450534/P 2,6 22,22

72 The breast L HARDOX500 3450535/L 2,6 22,22

73 The breast P HARDOX500 3450540/P 2,3 19,90

74 The breast L HARDOX500 3450541/L 2,3 19,90

75 The breast P HARDOX500 3451002/P  3451000/P 2,9 23,69

76 The breast L HARDOX500 3451003/L  3451001/L 2,9 23,69

77 The breast P HARDOX500 3451004/P 2,1 18,81

78 The breast L HARDOX500 3451005/L 2,1 18,81

79 The breast P HARDOX500 3451020/P 3,5 23,55

80 The breast L HARDOX500 3451021/L 3,5 23,55

81 The cutter P HARDOX500 3470834/P 3,8 34,19

82 The cutter L HARDOX500 3470835/L 3,8 34,19

83 The cutter P HARDOX500 3470860/P 3,3 28,87

84 The cutter L HARDOX500 3470861/L 3,3 28,87

85 Back slat of moldboard P HARDOX500 3475288/P 2 13,18
86 Back slat of moldboard L HARDOX500 3475289/L 2 13,18
87 Back slat of moldboard P HARDOX500 3476000/P 1,3 10,14

88 Back slat of moldboard L HARDOX500 3476001/L 1,3 10,14

89 The knife of slade P HARDOX500 3492900/P 2,9 24,46

90 The knife of slade L HARDOX500 3492901/L 2,9 24,46

91 The front slade R HARDOX500 3401900/P 1,1 9,90

92 The front slade L HARDOX500 3401901/P 1,1 9,90

93 The front slade P/L HARDOX500 3401903/S 1 9,60

94 The short slade R/L HARDOX500 3401570/S 3,8 27,41

95 The long slade R/L HARDOX500 3411826/S 5 34,72

96 The short slade R  HARDOX500 3401860/P 4,1 29,02

97 The short slade L HARDOX500 3401861/L 4,1 29,02

98 The long slade R HARDOX500 3401870/P 5,7 41,41

99 The long slade L HARDOX500 3401871/L 5,7 41,41

100 The long slade R  HARDOX500 3411870/P 7,3 50,72

101 The long slade L HARDOX500 3411871/L 7,3 50,72

102 The slade  HARDOX500 3401920/S 2 15,59

103 The short slade R/L HARDOX500 3411500/S 4 28,33

104 The long slade R/L HARDOX500 3411504/S 4,6 32,17

105 The slade R/L HARDOX500 3411450/S 5,5 37,90

106 The high slade R/L HARDOX500 3411508/S 6,2 43,12



107 The high slade R/L HARDOX500 3411460/S 6,9 47,87

108 The slade R/L HARDOX500 3411525/S 6 43,08

109 The lap P/L HARDOX500 3401490/S 2,3 20,06

110 The lap P/L HARDOX500 3401550/S 2,1 18,27

111 Skim mouldboard P HARDOX450 3470540/P 1,4 17,10
112 Skim mouldboard L HARDOX450 3470541/L 1,4 17,10
113 Skim mouldboard P HARDOX450 3470650/P 1,6 18,85
114 Skim mouldboard L HARDOX450 3470651/L 1,6 18,85

To the cultivator  LEMKEN
1 The share P HARDOX500 3374402/P 0,8 9,60
2 The share L HARDOX500 3374403/L 0,8 9,60
3 The share P HARDOX500 3374406/P 1,2 12,67

4 The share L HARDOX500 3374407/L 1,2 12,67

5 The share R HARDOX500 3374416/P 2,2 19,26

6 The share L HARDOX500 3374417/L 2,2 19,26

7 The share R HARDOX500 3374420/P 2,5 21,14
8 The share L HARDOX500 3374421/L 2,5 21,14
9 The central cutter HARDOX500 3374395/S 1,8 18,66

10 The beak of the coulter  HARDOX500 3374442/S 2 18,25
11 The beak of the coulter  HARDOX500 3374388/S 1,8 16,72
12 The side cutter P HARDOX500 3374398/P 2,4 22,26
13 The side cutter L HARDOX500 3374399/L 2,4 22,26
14 Coulter  HARDOX500 3374351/S 5,8 43,96

To the plough  OVERUM
1 The chisel P 72635/P 3,5 26,59

2 The chisel P 74601/P 3,5 23,75

3 The lap P 76601/S 0,7 10,83

4 The chisel P  B38 35070/P 2,5 19,75

5 The chisel L  B38 35071/L 2,5 19,75

6 The chisel P  HARDOX500 35074/P 2,4 19,12

7 The chisel L  HARDOX500 35075/L 2,4 19,12

8 The chisel P  HARDOX500 80514/P 2,1 26,59

9 The chisel L  HARDOX500 80543/L 2,1 26,59

10 The chisel P  HARDOX500 84060/P  92206/P 2,2 17,47

11 The chisel L  HARDOX500 85143/L  92207/L 2,2 17,47
12 The chisel P  HARDOX500 84942/P   95000675/P 2,2 17,47

13 The chisel L  HARDOX500 85204/L 2,2 17,47

14 The chisel P  HARDOX500 84987/P 1,8 14,62

15 The chisel L  HARDOX500 85206/L 1,8 14,62
16 The chisel P  HARDOX500 92199/P  92201/P 2,2 17,47
17 The chisel L  HARDOX500 92200/L  92202/L 2,2 17,47

18 The chisel P  HARDOX500 94608/P 2,2 17,47

19 The chisel L  HARDOX500 94609/L 2,2 17,47

20 The chisel P  HARDOX500 94610/P 2,2 17,47

21 The chisel L  HARDOX500 94611/L 2,2 17,47

22 The chisel P  HARDOX500 95002490/P 2,3 18,84

23 The chisel P  HARDOX500 95000675/P 2,5 19,89

24 The bracket P  HARDOX500 35076/P 1,6 15,36

25 The bracket L  HARDOX500 35077/L 1,6 15,36

26 The bracket P  HARDOX500 84288/P 3,2 26,86

27 The bracket L  HARDOX500 84289/L 3,2 26,86

28 The bracket P  HARDOX500 84958/P 2,4 20,89

29 The bracket L  HARDOX500 85191/L 2,4 20,89



30 The bracket P  HARDOX500 94612/P 1,4 13,43

31 The bracket L  HARDOX500 94613/L 1,4 13,43

32 The share R  HARDOX500 72632/P 3,8 34,54

33 The share R  HARDOX500 72633/P 4 36,46

34 The share R  HARDOX500 71345/P 4,4 37,99

35 The share R HARDOX500 74903/P 4 33,16
36 The share L HARDOX500 74904/P 4,2 34,07

37 The share R HARDOX500 80521/P 3,6 29,58

38 The share L HARDOX500 80531/L 3,6 29,58

39 The share R HARDOX500 74605/P 3,7 30,38

40 The share R HARDOX500
80605-02/P          

74606/P
6,2 34,05

41 The share L HARDOX500 77605/L 4,2 34,05
42 The share R  HARDOX500 74607 4,4 35,64
43 The share R HARDOX500 84069/P 3,6 29,94
44 The share L HARDOX500 84078/L 3,6 29,94
45 The share R HARDOX500 85383/P 4,2 34,19
46 The share L HARDOX500 85381/L 4,2 34,19
47 The share R HARDOX500 85384/P 4,2 35,64
48 The share L HARDOX500 85382/L 4,2 35,64
49 The share R 16” HARDOX500 85004/P 2,2 20,94
50 The share L 16” HARDOX500 85194/L 2,2 20,94
51 The share R 18” HARDOX500 85039/P 2,5 23,04
52 The share L HARDOX500 85195/L 2,5 23,04
53 The share R  HARDOX500 92219/P 4,1 33,16
54 The share L HARDOX500 92217/L 4,1 33,16
55 The share R  HARDOX500 94598/P 3,4 29,32
56 The share L  HARDOX500 94599/L 3,4 29,32
57 The share R HARDOX500 94600/P 4,1 33,16
58 The share L HARDOX500 94601/L 4,1 33,16
59 The share R HARDOX500 94602/P 4,7 38,38
60 The share L HARDOX500 94603/L 4,7 38,38
61 The share R 16” HARDOX500 96090/P 4 32,47
62 The share L 16” HARDOX500 96091/L 4 32,47
63 The share R HARDOX500 96092/P 4,5 36,46
64 The share L HARDOX500 96093/L 4,5 36,46
65 The share R HARDOX500 35040/P 4,7 38,38
66 The share L HARDOX500 35041/L 4,7 38,38
67 The share P HARDOX500 35042/P 5,3 42,29
68 The share L HARDOX500 35043/L 5,3 42,29
69 The share P HARDOX500 35044/P 5,9 46,51
70 The share L HARDOX500 35045/L 5,9 46,51
71 The share P HARDOX500 95000683/P 3,6 28,79
72 The share P HARDOX500 95000684/P 3,8 30,70
73 The share P HARDOX500 95002489/P 3,2 26,86
74 The share P HARDOX500 80644/P 1 10,83
75 The share L HARDOX500 80639/L 1 10,83
76 The share R HARDOX500 91801/P 1,3 13,13
77 The share L HARDOX500 91802/L 1,3 13,13
78 The breast P HARDOX500 35080/P 2,7 22,81
79 The breast L HARDOX500 35081/L 2,7 22,81
80 The breast P HARDOX500 80512/P 2 17,90
81 The breast L HARDOX500 80513/L 2 17,90
82 The breast P HARDOX500 80609/P  74871/P 1,9 18,05
83 The breast L HARDOX500 80609/L 1,9 18,05



84 The breast P HARDOX500 84033/P 2,3 19,95
85 The breast L HARDOX500 84082/L 2,3 19,95
86 The breast P HARDOX500 83980/P 1,7 17,10
87 The breast L HARDOX500 84083/L 1,7 17,10
88 The breast P HARDOX500 94596/P 1,4 15,20
89 The breast L HARDOX500 94597/L 1,4 15,20
90 The breast P HARDOX500 96086/P 2,6 21,87
91 The breast L HARDOX500 96087/L 2,6 21,87
92 The breast P HARDOX500 95002505/P 3 25,08
93 The cutter P HARDOX500 96064/P  83969/P 3,7 29,95
94 The cutter L HARDOX500 96065/L  83968/L 3,7 29,95
95 Holder P HARDOX400 84022/P 1,5 13,30
96 Holder L HARDOX400 84023/L 1,5 13,30
97 Holder P HARDOX400 99627/P  94624/P 1,6 13,68
98 Holder L HARDOX400 99628/L  94625/L 1,6 13,68
99 Back slat of moldboard P HARDOX450 74922/P 1,6 11,40

100 Back slat of moldboard L HARDOX450 80559/L 1,6 11,40
101 The knife of slade P HARDOX450 94622/P 1,2 12,54
102 The knife of slade P HARDOX450 94623/L 1,2 12,54
103 The front slade P HARDOX500 35060/P 1,1 9,40
104 The front slade L HARDOX500 35061/L 1,1 9,40
105 The slade P HARDOX500 95003732/P 1 9,21
106 The slade P HARDOX500 35062/P 6,2 42,63
107 The slade L HARDOX500 35063/L 6,2 42,63
108 The short slade P HARDOX500 57997/P   72577/P 4,4 36,23
109 The long slade P HARDOX500 57998/P 5,8 44,64
110 The slade P HARDOX500 74943/P 3,9 28,79
111 The short slade P HARDOX500 80505/P 4,6 32,62
112 The short slade L HARDOX500 80506/L 4,6 32,62
113 The front slade P HARDOX500 80602/P  74602/P 2,3 17,39
114 The front slade L HARDOX500 80602/L 2,3 17,39
115 The slade P HARDOX500 80601/P   74612/P 2 15,59
116 The slade L HARDOX500 80601/L 2 15,59
117 The short slade P HARDOX500 84239/P 4,3 30,51
118 The short slade L HARDOX500 84243/L 4,3 30,51
119 The long slade P HARDOX500 80603/P   74603/P 5,8 39,70
120 The long slade L HARDOX500 80603/L 5,8 39,70
121 The short slade P HARDOX500 85675/P 4,3 30,39
122 The short slade L HARDOX500 86126/L 4,3 30,39
123 The long slade P HARDOX500 94561/P 5,9 40,84
124 The long slade L HARDOX500 94562/L 5,9 40,84
125 The short slade P HARDOX500 86291/P 4 28,40
126 The short slade L HARDOX500 85578/L 4 28,40
127 The long slade P HARDOX500 94559/P  85202/P 5,5 39,18
128 The long slade L HARDOX500 94560/L  85133/L 5,5 39,18
129 The short slade P HARDOX500 83981/P 3,9 27,62
130 The short slade L HARDOX500 85196/L 3,9 27,62
131 The long slade P HARDOX500 94286/P 4,7 32,64
132 The long slade L HARDOX500 94287/L 4,7 32,64
133 The short slade P HARDOX500 92230/P 4,5 32,76
134 The short slade L HARDOX500 92229/L 4,5 32,76
135 The long slade P HARDOX500 92232/P 5,8 40,54
136 The long slade L HARDOX500 92231/L 5,8 40,54
137 The long slade P HARDOX500 94604/P 5,1 35,39



138 The long slade L HARDOX500 94605/L 5,1 35,39
139 The long slade P HARDOX500 94606/P 4,7 32,65
140 The long slade L HARDOX500 94607/L 4,7 32,65
141 The long slade P HARDOX500 96094/P 5,4 37,19
142 The long slade L HARDOX500 96095/L 5,4 37,19
143 The slade P HARDOX500 95003736/P 3 23,03
144 The lap  HARDOX500 94289/S 3 25,07
145 Cover P HARDOX500 92409/P 4,7 32,89
146 Cover L HARDOX500 92509/L 4,7 32,89
147 Skim mouldboard P HARDOX500 74296/P 2,9 26,02
148 Skim mouldboard L HARDOX500 74297/L 2,9 26,02
149 Skim mouldboard P HARDOX450 91803/P 2,1 20,94
150 Skim mouldboard L HARDOX450 91804/L 2,1 20,94
151 Skim mouldboard P HARDOX450 93062/P 1,5 16,15
152 Skim mouldboard L HARDOX450 93061/L 1,5 16,15

To the plough  KUHN
1 The chisel P HARDOX500 622010/P 1,9 16,46
2 The chisel L HARDOX500 622011/L 1,9 16,46
3 The chisel P HARDOX500 622128/P 1,8 14,62
4 The chisel L  HARDOX500 622129/L 1,8 14,62
5 The chisel P HARDOX500 622174/P 2 16,07
6 The chisel L  HARDOX500 622175/L 2 16,07
7 The chisel P HARDOX500 622180/P 1,7 14,13
8 The chisel L  HARDOX500 622181/L 1,7 14,13
9 The share R HARDOX500 620088/P 6,8 53,92

10 The share L HARDOX500 620089/L 6,8 53,92
11 The share R HARDOX500 622134/P 6,7 52,82
12 The share L HARDOX500 622135/L 6,7 52,82
13 The share R HARDOX500 622136/P  622212/P 7,2 56,74
14 The share L HARDOX500 622137/L  622213/L 7,2 56,74
15 The share P HARDOX500 622202/P 7,9 62,55
16 The share L HARDOX500 622203/L 7,9 62,55
17 The share P HARDOX500 622172/P 8 63,32
18 The share L HARDOX500 622173/L 8 63,32
19 The share R HARDOX500 583890/P 6,9 61,78
20 The share L HARDOX500 583891/L 6,9 61,78
21 The share R HARDOX500 583892/P 7,9 69,11
22 The share L HARDOX500 583893/L 7,9 69,11
23 The share P HARDOX500 622140/P 6,8 53,73
24 The share L HARDOX500 622141/L 6,8 53,73
25 The share P HARDOX500 622142/P 7,8 62,55
26 The share L HARDOX500 622143/L 7,8 62,55
27 The share P HARDOX500 625036/P 4,6 36,98
28 The share L HARDOX500 625037/L 4,6 36,98
29 The share P HARDOX500 625102/P 5,6 44,14
30 The share L HARDOX500 625103/L 5,6 44,14
31 The share P HARDOX500 622016/P 4,4 37,04
32 The share L HARDOX500 622017/L 4,4 37,04
33 The skim share P HARDOX500 631106/P 1,1 11,28
34 The skim share L HARDOX500 631107/L 1,1 11,28
35 The skim share P HARDOX500 631100/P 1,4 13,68
36 The skim share L HARDOX500 631101/L 1,4 13,68
37 The skim share P HARDOX500 631108/P 1,4 13,68
38 The skim share L HARDOX500 631109/L 1,4 13,68



39 The skim share P HARDOX500 631102/P 1,2 12,67
40 The skim share L HARDOX500 631103/L 1,2 12,67
41 The skim share P/L HARDOX500 631112/S 1,8 16,72
42 The breast P HARDOX500 1780/P 1,6 16,75
43 The breast L HARDOX500 1790/L 1,6 16,75
44 The breast P HARDOX500 619040/P 1,6 16,75
45 The breast L HARDOX500 619041/L 1,6 16,75
46 The breast P HARDOX500 619060/P 1,5 16,50
47 The breast L HARDOX500 619061/L 1,5 16,50
48 The breast P HARDOX500 619068/P 1,5 16,50
49 The breast L HARDOX500 619069/L 1,5 16,50
50 The breast P HARDOX500 619102/P 1,6 16,75
51 The breast L HARDOX500 619103/L 1,6 16,75
52 The breast P HARDOX500 619120/P 619168/P 2,4 20,94
53 The breast L HARDOX500 619121/L 619169/L 2,4 20,94
54 The breast P HARDOX500 619128/P 619170/P 2,5 21,85
55 The breast L HARDOX500 619129/L 619171/L 2,5 21,85
56 The breast P HARDOX500 619172/P 2,7 23,04
57 The breast L HARDOX500 619173/L 2,7 23,04
58 The breast P HARDOX500 619278/P 2,3 21,97
59 The breast L HARDOX500 619279/L 2,3 21,97
60 The cutter P/L HARDOX500 619159/S 3,4 28,49
61 Back slat of moldboard P/L HARDOX500 648005/S 1,7 11,40
62 Back slat of moldboard P HARDOX500 648102/P 2 13,18
63 Back slat of moldboard L HARDOX500 648103/L 2 13,18
64 The front slade P HARDOX500 223120/P 0,9 8,53
65 The front slade L HARDOX500 223121/L 0,9 8,53
66 The front slade P HARDOX500 279138/P 0,9 8,53
67 The front slade L HARDOX500 279139/L 0,9 8,53
68 The front slade P HARDOX500 761106/P 0,9 8,53
69 The front slade L HARDOX500 761107/L 0,9 8,53
70 The front slade P HARDOX500 761110/P 0,8 8,53
71 The front slade L HARDOX500 761111/L 0,8 8,53
72 The slade P/L HARDOX500 226104/S 4,5 31,91
73 The short slade P HARDOX500 278070/P 3,6 26,10
74 The short slade L HARDOX500 278071/L 3,6 26,10
75 The long slade P HARDOX500 278072/P 5 34,92
76 The long slade L HARDOX500 278073/L 5 34,92
77 The short slade P HARDOX500 278074/P 2,9 21,27
78 The short slade L HARDOX500 278075/L 2,9 21,27
79 The long slade P HARDOX500 278076/P 4,7 32,64
80 The long slade L HARDOX500 278077/L 4,7 32,64
81 The long slade P HARDOX500 279130/P 4,8 33,34
82 The long slade L HARDOX500 279131/L 4,8 33,34
83 The short slade P HARDOX500 279028/P 1,2 10,57
84 The short slade L HARDOX500 279029/L 1,2 10,57
85 The long slade P HARDOX500 279030/P 3,9 27,62
86 The long slade L HARDOX500 279031/L 3,9 27,62
87 The long slade P HARDOX500 279114/P 5,8 40,27
88 The long slade L HARDOX500 279115/L 5,8 40,27
89 The long slade P HARDOX500 279126/P 2,9 21,27
90 The long slade L HARDOX500 279127/L 2,9 21,27
91 The slade P/L HARDOX500 279140/S 5,4 37,19
92 The slade P/L HARDOX500 761108/S 4,6 32,17



93 The lap P/L HARDOX500 279140A/S 1,5 13,30
94 Skim mouldboard P HARDOX450 618104/P 2 21,15
95 Skim mouldboard L HARDOX450 618105/L 2 21,15
96 Skim mouldboard P HARDOX450 618114/P 1,5 17,10
97 Skim mouldboard L HARDOX450 618115/L 1,5 17,10
98 Skim mouldboard P HARDOX450 619126/P 2,4 23,46
99 Skim mouldboard L HARDOX450 619127/L 2,4 23,46

To the plough  RABEWERK
1 The chisel P  HARDOX500 MP293/P 1,6 13,41
2 The chisel L  HARDOX500 MP293/L 1,6 13,41
3 The chisel P  HARDOX500 MP332/P 1,3 11,24
4 The chisel L  HARDOX500 MP332/L 1,3 11,24
5 The chisel P  HARDOX500 MP350/P 1,3 11,24
6 The chisel L  HARDOX500 MP350/L 1,3 11,24
7 The share P HARDOX500 SSPNB/P 4,1 33,37
8 The share L HARDOX500 SSPNB/L 4,1 33,37
9 The share P HARDOX500 SSP160MB/P 3,3 27,20

10 The share L HARDOX500 SSP160MB/L 3,3 27,20
11 The share P HARDOX500 SSP214/P 4,6 37,23
12 The share L HARDOX500 SSP214/L 4,6 37,23
13 The share P HARDOX500 SSP280/P 7,2 57,57
14 The share L HARDOX500 SSP280/L 7,2 57,57
15 The share P HARDOX500 SSP295OEP/P 7,8 61,75
16 The share L HARDOX500 SSP295OEP/L 7,8 61,75
17 The share P HARDOX500 SSP293OSE/P 7 55,16
18 The share L HARDOX500 SSP293OSE/P 7 55,16
19 The share P HARDOX500 SSP294OSE/P 8 63,09
20 The share L HARDOX500 SSP294OSE/L 8 63,09
21 The share P HARDOX500 SSP200JB/P 4,2 34,27
22 The share L HARDOX500 SSP200JB/L 4,2 34,27
23 The share P HARDOX500 SSP332OS/P 5 39,91
24 The share L HARDOX500 SSP332OS/L 5 39,91
25 The share P HARDOX500 SSP333OS/P 6 47,97
26 The share L HARDOX500 SSP333OS/L 6 47,97
27 The share P HARDOX500 SSP350WE/P 7,5 59,56
28 The share L HARDOX500 SSP350WE/L 7,5 59,56
29 The share P HARDOX500 SSP351/P 8,2 64,89
30 The share L HARDOX500 SSP351/L 8,2 64,89
31 The share P HARDOX500 SSP350W/P 6,8 53,49
32 The share L HARDOX500 SSP350W/L 6,8 53,49
33 The share P HARDOX500 SSP351WSE/P 8,1 64,54
34 The share L HARDOX500 SSP351WSE/L 8,1 64,54
35 The share P HARDOX500 27230401/P 6,8 53,49
36 The share L HARDOX500 27230402/L 6,8 53,49
37 The share P HARDOX500 27150101/P 0,9 10,83
38 The share L HARDOX500 27150102/L 0,9 10,83
39 The share P HARDOX500 SDG18B/P 1,4 13,68
40 The share L HARDOX500 SDG18B/L 1,4 13,68
41 The share P HARDOX500 SDG12B/P 0,8 10,14
42 The share L HARDOX500 SDG12B/L 0,8 10,14
43 The share P HARDOX500 SDG14/16/P 1 10,85
44 The share L HARDOX500 SDG14/16/L 1 10,85
45 The breast P HARDOX500 VRP290/P 2,4 22,07
46 The breast L HARDOX500 VRP290/L 2,4 22,07



47 The breast P HARDOX500 VRP292O/P 1,7 17,82
48 The breast L HARDOX500 VRP292O/L 1,7 17,82
49 The breast P HARDOX500 VRP230O/P 1,9 17,82
50 The breast L HARDOX500 VRP230O/L 1,9 17,82
51 The breast P HARDOX450 VRP300/P 1,8 17,93
52 The breast L HARDOX450 VRP300/L 1,8 17,93
53 The breast P HARDOX500 VRP300T/P 1,1 12,92
54 The breast L HARDOX500 VRP300T/L 1,1 12,92
55 The breast P HARDOX500 VRP320/P 1,8 17,93
56 The breast L HARDOX500 VRP320/L 1,8 17,93
57 The breast P HARDOX500 VRP330/P 2 18,85
58 The breast L HARDOX500 VRP330/L 2 18,85
59 The breast P HARDOX500 VRP340/P 2 18,85
60 The breast L HARDOX500 VRP340/L 2 18,85
61 The breast P HARDOX500 VRP342R/P 1,9 18,24
62 The breast L HARDOX500 VRP342R/L 1,9 18,24
63 The breast P HARDOX500 VRP350W/P 2,1 19,90
64 The breast L HARDOX500 VRP350W/L 2,1 19,90
65 The cutter P HARDOX500 27290101/P 4,5 39,79
66 The cutter L HARDOX500 27290102/L 4,5 39,79
67 The cutter P HARDOX500 27300101/P 4 37,04
68 The cutter L HARDOX500 27300102/L 4 37,04
69 Holder P HARDOX400 27290701/P  EBP4/P 2,6 49,39
70 Holder L HARDOX400 27290702/L  EBP4/L 2,6 49,39
71 Back slat of moldboard P HARDOX500 27011801/P 2,2 14,19
72 Back slat of moldboard L HARDOX500 27011802/L 2,2 14,19
73 The front slade R HARDOX500 27510205/P 1,2 10,57
74 The front slade L HARDOX500 27510205/L 1,2 10,57
75 The front slade R/L HARDOX500 27600601/S 0,9 9,60
76 The front slade R/L HARDOX500 27532005/S 0,6 7,60
77 The short slade P HARDOX500 27011500/P 3,5 25,16
78 The short slade L HARDOX500 27011500/L 3,5 25,16
79 The long slade P HARDOX500 27011400/P 5,6 38,57
80 The long slade L HARDOX500 27011400/L 5,6 38,57
81 The short slade P HARDOX500 27011700/P 3,3 24,18
82 The short slade L HARDOX500 27011700/L 3,3 24,18
83 The long slade P HARDOX500 27011600/P 5,3 36,84
84 The long slade L HARDOX500 27011600/L 5,3 36,84
85 The short slade P HARDOX500 27080702/P 2,5 19,90
86 The short slade L HARDOX500 27080702/L 2,5 19,90
87 The long slade P HARDOX500 27080701/P 4 29,32
88 The long slade L HARDOX500 27080701/L 4 29,32
89 The short slade P HARDOX500 27080704/P 2,4 18,42
90 The short slade L HARDOX500 27080704/L 2,4 18,42
91 The long slade P HARDOX500 27080703/P 3,7 26,86
92 The long slade L HARDOX500 27080703/L 3,7 26,86
93 The long slade P HARDOX500 27240401/P 4,2 29,94
94 The long slade L HARDOX500 27240401/L 4,2 29,94
95 The short slade P HARDOX500 27340902/P 3,9 28,02
96 The short slade L HARDOX500 27340902/L 3,9 28,02
97 The long slade P HARDOX500 27340901/P 5,6 39,15
98 The long slade L HARDOX500 27340901/L 5,6 39,15
99 The short slade P HARDOX500 27360902/P 4,7 33,01

100 The short slade L HARDOX500 27360902/L 4,7 33,01



101 The long slade P HARDOX500 27360901/P 7,4 51,04
102 The long slade L HARDOX500 27360901/L 7,4 51,04
103 The short slade P HARDOX500 27371602/P 3,5 25,71
104 The short slade L HARDOX500 27371602/L 3,5 25,71
105 The long slade P HARDOX500 27371601/P 5,4 37,61
106 The long slade L HARDOX500 27371601/L 5,4 37,61
107 The short slade P HARDOX500 27480603/P 2,2 16,71
108 The short slade L HARDOX500 27480604/L 2,2 16,71
109 The long slade P HARDOX500 27480601/P 3,3 24,18
110 The long slade L HARDOX500 27480602/L 3,3 24,18
111 The short slade P/L HARDOX500 27510306/S 3,7 26,28
112 The long slade P/L HARDOX500 27510305/S 6,2 42,42
113 The long slade P HARDOX500 27520900/P 8 54,88
114 The long slade L HARDOX500 27520900/L 8 54,88
115 The short slade P HARDOX500 27530502/P 2,3 17,39
116 The short slade L HARDOX500 27530504/L 2,3 17,39
117 The long slade P/L HARDOX500 WP300O/S 3,9 27,62
118 The short slade P HARDOX500 27991101/P 3 21,87
119 The short slade L HARDOX500 27991102/L 3 21,87
120 The long slade P HARDOX500 27991105/P 4,1 29,17
121 The long slade L HARDOX500 27991106/L 4,1 29,17
122 The lap R/L HARDOX500 27081400/S 3,4 24,45
123 The lap R/L HARDOX500 27081401/S 5 34,92
124 The lap R/L HARDOX500 27081500/S 1,1 9,90
125 The lap R HARDOX500 27521801/P 8,6 59,10
126 The lap L HARDOX500 27521801/L 8,6 59,10
127 Skim mouldboard P HARDOX450 27150801/P 2 20,94
128 Skim mouldboard L HARDOX450 27150802/L 2 20,94

To the Aggregate  RABE
1 The share R  HARDOX500 63361604/P 0,9 9,61
2 The share L  HARDOX500 63361603/L 0,9 9,61
3 The share R  HARDOX500 63421212/P 1,1 11,51
4 The share L  HARDOX500 63421211/L 1,1 11,51
5 The share R  HARDOX500 63425004/P 1,2 12,57
6 The share L  HARDOX500 63425003/L 1,2 12,57
7 The share R  HARDOX500 63425006/P 1,5 14,59
8 The share L  HARDOX500 63425005/L 1,5 14,59
9 The share R  HARDOX500 63425010/P 1,5 14,59

10 The share L  HARDOX500 63425009/L 1,5 14,59
To the plough  NIEMEYER

1 The chisel P HARDOX500 24104/P 1,2 10,75
2 The chisel L HARDOX500 24105/L 1,2 10,75
3 The chisel P HARDOX500 200610/P 1,6 13,40
4 The chisel L HARDOX500 200611/L 1,6 13,40
5 The chisel P HARDOX500 200678/P 2,2 20,93
6 The chisel L HARDOX500 200679/L 2,2 20,93
7 The share P HARDOX500 24102/P 4 33,43
8 The share L HARDOX500 24103/L 4 33,43
9 The share P HARDOX500 24122/P 5 43,08

10 The share L HARDOX500 24121/L 5 43,08
11 The share P HARDOX500 200414/P 5,9 47,02
12 The share L HARDOX500 200415/L 5,9 47,02
13 The share P HARDOX500 200614/P 6 47,30
14 The share L HARDOX500 200615/L 6 47,30



15 The share P HARDOX500 200814/P 6,1 48,15
16 The share L HARDOX500 200815/L 6,1 48,15
17 The share P HARDOX500 200616/P 6,3 49,75
18 The share L HARDOX500 200617/L 6,3 49,75
19 The share P HARDOX500 200830/P 6,5 51,33
20 The share L HARDOX500 200829/L 6,5 51,33
21 The share P HARDOX500 200810/P 7,4 58,39
22 The share L HARDOX500 200811/L 7,4 58,39
23 The share P HARDOX500 200626/P 6,4 50,54
24 The share L HARDOX500 200625/L 6,4 50,54
25 The skim share P HARDOX500 26018/P 1,1 11,13
26 The skim share L HARDOX500 26017/L 1,1 11,13
27 The skim share P HARDOX500 26088/P 1,1 11,13
28 The skim share L HARDOX500 26087/L 1,1 11,13
29 The skim share P HARDOX500 26104/P 1,4 13,68
30 The skim share L HARDOX500 26103/L 1,4 13,68
31 The breast P HARDOX500 20536/P 2,1 18,85
32 The breast L HARDOX500 20535/L 2,1 18,85
33 The breast P HARDOX500 20736/P 2,6 21,85
34 The breast L HARDOX500 20735/L 2,6 21,85
35 The breast P HARDOX500 23436/P 2,7 23,04
36 The breast L HARDOX500 23435/L 2,7 23,04
37 The breast P HARDOX500 24080/P 2,7 23,04
38 The breast L HARDOX500 24081/L 2,7 23,04
39 The breast P HARDOX500 24114/P 2,1 18,66
40 The breast L HARDOX500 24113/L 2,1 18,66
41 The breast P HARDOX500 200648/P 3,4 28,27
42 The breast L HARDOX500 200649/L 3,4 28,27
43 The cutter P HARDOX500 26180/P 3,8 32,29
44 The cutter L HARDOX500 26181/L 3,8 32,29
45 Back slat of moldboard P/L HARDOX500 26105/S 0,6 6,65
46 The front slade R HARDOX500 24004/P 1,1 9,90
47 The front slade L HARDOX500 24004/L 1,1 9,90
48 The front slade R HARDOX500 24013/P 1,7 13,54
49 The front slade L HARDOX500 24013/L 1,7 13,54
50 The slade P/L HARDOX500 24072/S 5,2 36,06
51 The short slade P HARDOX500 20016/P 3,3 23,78
52 The short slade L HARDOX500 20015/L 3,3 23,78
53 The long slade P HARDOX500 20018/P 4,1 29,04
54 The long slade L HARDOX500 20017/L 4,1 29,04
55 The short slade P HARDOX500 20620/P 4,1 29,00
56 The short slade L HARDOX500 20619/L 4,1 29,00
57 The long slade P HARDOX500 20622/P 5,1 35,39
58 The long slade L HARDOX500 20621/L 5,1 35,39
59 The short slade P HARDOX500 21416/P 4,3 31,41
60 The short slade L HARDOX500 21415/L 4,3 31,41
61 The long slade P HARDOX500 21328/P 6,1 42,93
62 The long slade L HARDOX500 21327/L 6,1 42,93
63 The short slade P HARDOX500 21916/P 5,4 37,61
64 The short slade L HARDOX500 21915/L 5,4 37,61
65 The long slade P HARDOX500 21928/P 6,8 46,82
66 The long slade L HARDOX500 21927/L 6,8 46,82
67 The short slade P/L  HARDOX500 23416/S 4,6 32,62
68 The long slade P/L  HARDOX500 23428/S 7,1 48,74



To the plough  GASSNER
1 The share P HARDOX500 SS1080/P 4,8 38,32
2 The share L HARDOX500 SS1090/L 4,8 38,32
3 The share P HARDOX500 SS1180/P 5 39,91
4 The share L HARDOX500 SS1190/L 5 39,91
5 The share P HARDOX500 MS1080/P 4,9 39,38
6 The share L HARDOX500 MS1090/L 4,9 39,38
7 The share P HARDOX500 SS1100/P 5,3 42,32
8 The share L HARDOX500 SS1110/L 5,3 42,32
9 The share P HARDOX500 SS1140/P 5,4 42,63

10 The share L HARDOX500 SS1150/L 5,4 42,63
11 The share P HARDOX500 MS1100/P 5,3 42,21
12 The share L HARDOX500 MS1110/L 5,3 42,21
13 The share P HARDOX500 MSS11384/P 6 47,30
14 The share L HARDOX500 MSS11385/L 6 47,30
15 The share P HARDOX500 MS1140/P 5,6 44,42
16 The share L HARDOX500 MS1150/L 5,6 44,42
17 The share P HARDOX500 GM162/P 6,4 50,66
18 The share L HARDOX500 GM162/L 6,4 50,66
19 The share P HARDOX500 MS13018/P 5,3 42,10
20 The share L HARDOX500 MS13019/L 5,3 42,10
21 The share P HARDOX500 MRSS1580/P 6 47,59
22 The share L HARDOX500 MRSS1590/L 6 47,59
23 The share P HARDOX500 FR2/P 1 10,85
24 The share L HARDOX500 FR2/L 1 10,85
25 The breast P HARDOX500 VST1060/P 1,2 13,82
26 The breast L HARDOX500 VST1070/L 1,2 13,82
27 The breast P HARDOX500 VST1080/P 1,4 14,82
28 The breast L HARDOX500 VST1090/L 1,4 14,82
29 The breast P HARDOX500 VST1120/P 1,6 15,73
30 The breast L HARDOX500 VST1130/L 1,6 15,73
31 The breast P HARDOX500 VST1160/P 1,7 16,96
32 The breast L HARDOX500 VST1170/L 1,7 16,96
33 The breast P HARDOX500 VST1360/P 1,7 16,96
34 The breast L HARDOX500 VST1370/L 1,7 16,96
35 The breast P HARDOX500 VST1380/P 1,8 17,93
36 The breast L HARDOX450 VST1390/L 1,8 17,93
37 Back slat of moldboard P HARDOX500 96662/P 2 13,18
38 Back slat of moldboard L HARDOX500 96663/L 2 13,18
39 The short slade P HARDOX500 L1083/Pk 4,1 29,00
40 The short slade L HARDOX500 L1093/Lk 4,1 29,00
41 The long slade P HARDOX500 L1083/Pd 5,3 37,04
42 The long slade L HARDOX500 L1093/Ld 5,3 37,04
43 The long slade P HARDOX500 L1123/P 5,7 40,75
44 The long slade L HARDOX500 L1133/L 5,7 40,75
45 The long slade P/L HARDOX500 L1582/S 3 22,79

To the plough  VOGEL  NOOT
1 The chisel  P HARDOX500 PK8/P  801101/P 1,4 12,17
2 The chisel L  HARDOX500 PK8/L  801102/L 1,4 12,17
3 The share P HARDOX500 5000103/P 3,8 30,92
4 The share L HARDOX500 5000203/L 3,8 30,92
5 The share P HARDOX500 PK000003/P 5,4 42,82
6 The share L HARDOX500 PK000004/L 5,4 42,82
7 The share P HARDOX500 PK000005/P 5,7 45,02



8 The share L HARDOX500 PK000006/L 5,7 45,02
9 The share P HARDOX500 PK000007/P 6 47,51

10 The share L HARDOX500 PK000008/L 6 47,51
11 The share P HARDOX500 601301/P 5,5 43,59
12 The share L HARDOX500 601401/L 5,5 43,59
13 The share P HARDOX500 701301/P 5,9 46,69
14 The share L HARDOX500 701401/L 5,9 46,69
15 The share P HARDOX500 801301/P 6,3 49,89
16 The share L HARDOX500 801401/L 6,3 49,89
17 The share P HARDOX500 400101/P 6,2 49,34
18 The share L HARDOX500 400201/L 6,2 49,34
19 The share P HARDOX500 401301/P 6,1 48,10
20 The share L HARDOX500 401401/L 6,1 48,10
21 The share P HARDOX500 9103001/P 5,8 45,75
22 The share L HARDOX500 9103101/L 5,8 45,75
23 The share P HARDOX500 9303002/P 5,1 40,69
24 The share L  HARDOX500 9303102/L 5,1 40,69
25 The share P HARDOX500 305401/P 1,1 11,28
26 The share L HARDOX500 305501/L 1,1 11,28
27 The share P HARDOX500 135601/P 1,7 17,10
28 The share L HARDOX500 135701/L 1,7 17,10
29 The share P HARDOX500 667001/P 1,2 12,67
30 The share L HARDOX500 667004/L 1,2 12,67
31 The breast P HARDOX500 300103/P 1,6 16,13
32 The breast L HARDOX500 300203/L 1,6 16,13
33 The breast P HARDOX500 400103/P 1,6 16,13
34 The breast L HARDOX500 400203/L 1,6 16,13
35 The breast P HARDOX500 600500/P 1 16,75
36 The breast L HARDOX500 600600/L 1 16,75
37 The breast P HARDOX500 800501/P 2,2 19,90
38 The breast L HARDOX500 800601/L 2,2 19,90
39 The breast P HARDOX500 900105/P 2,9 24,08
40 The breast L HARDOX500 900205/L 2,9 24,08
41 The cutter P HARDOX500 105102/P 3 25,64
42 The cutter L HARDOX500 105202/L 3 25,64
43 Back slat of moldboard P/L HARDOX500 700102/S 1 8,87
44 Back slat of moldboard P HARDOX500 800102/P 1,4 10,64
45 Back slat of moldboard L HARDOX500 800202/L 1,4 10,64
46 Knife of slade P HARDOX500 201901/P 3,7 31,34
47 Knife of slade L HARDOX500 202001/L 3,7 31,34
48 The slade R HARDOX500 813003/P 2,5 19,57
49 The slade L HARDOX500 814003/L 2,5 19,57
50 The slade R HARDOX500 913003/P 2,3 17,24
51 The slade L HARDOX500 914003/L 2,3 17,24
52 The short slade P/L HARDOX500 703003/S 2,8 20,56
53 The long slade P/L HARDOX500 703002/S 4,9 34,02
54 The short slade P HARDOX500 103401/P 8,2 56,99
55 The short slade L HARDOX500 103501/L 8,2 56,99
56 The long slade P HARDOX500 103601/P 12 82,15
57 The long slade L HARDOX500 103701/L 12 82,15
58 The short slade P HARDOX500 5000301/P 2,5 19,19
59 The short slade L HARDOX500 5000401/L 2,5 19,19
60 The long slade P HARDOX500 5000105/P 4,5 31,50
61 The long slade L HARDOX500 5000205/L 4,5 31,50



62 The short slade P HARDOX500 803401/P 4,2 29,67
63 The short slade L HARDOX500 803501/L 4,2 29,67
64 The short slade P HARDOX500 8903401/P 3,4 24,45
65 The short slade L HARDOX500 8903501/L 3,4 24,45
66 The long slade P HARDOX500 8903601/P 5,7 38,99
67 The long slade L HARDOX500 8903701/L 5,7 38,99
68 The slade P/L  HARDOX500 5800901/S 5 39,41
69 The slade  HARDOX500 5801101/S 3,3 27,16
70 The lap P/L HARDOX500 703001/S 1,2 10,64
71 Skim mouldboard P HARDOX450 136602/P 1,8 19,58
72 Skim mouldboard L HARDOX450 136702/L 1,8 19,58
73 Skim mouldboard P HARDOX450 137602/P 2,7 24,65
74 Skim mouldboard L HARDOX450 137702/L 2,7 24,65
75 Skim mouldboard P HARDOX450 Z2335603/P 0,9 12,35
76 Skim mouldboard L HARDOX450 Z2335703/L 0,9 12,35

To the cultivator  VOGEL NOOT
1 The share R  HARDOX500 92536/P 1 10,25
2 The share L HARDOX500 92537/L 1 10,25

To the plough  KRONE
1 The chisel P  HARDOX500 9290990/P 1,1 10,03
2 The chisel L  HARDOX500 9291990/L 1,1 10,03
3 The chisel P  HARDOX500 9690990/P 1,2 10,75
4 The chisel L  HARDOX500 9691990/L 1,2 10,75
5 The chisel P  HARDOX500 9690980/P 1,4 12,21
6 The chisel L  HARDOX500 9691980/L 1,4 12,21
7 The share P HARDOX500 929015/P 3,5 28,83
8 The share L HARDOX500 929115/L 3,5 28,83

9 The share P HARDOX500
969003/P            
929003/P

4,9 39,11
10 The share L HARDOX500 969103/L 4,9 39,11
11 The share P HARDOX500 969005/P 5,3 42,29
12 The share L HARDOX500 969105/L 5,3 42,29
13 The share R HARDOX500 969007/P 5,8 46,05
14 The share L HARDOX500 969107/L 5,8 46,05
15 The share R HARDOX500 969009/P 6,3 49,84
16 The share L HARDOX500 969109/L 6,3 49,84
17 The share R HARDOX500 969021/P  929036/P 5,1 43,86
18 The share L HARDOX500 969121/L  929136/L 5,1 43,86
19 The share P HARDOX500 969029/P 6,2 48,89
20 The share L HARDOX500 969129/L 6,2 48,89
21 The share P HARDOX500 969095/P 5,4 42,98
22 The share L HARDOX500 969195/L 5,4 42,98
23 The share P HARDOX500 969096/P 5,9 46,82
24 The share L HARDOX500 969196/L 5,9 46,82
25 The share R/L HARDOX500 9691971/S 6,1 48,10
26 The share R  HARDOX500 9690911/P 0,9 10,83
27 The share L HARDOX500 9691911/L 0,9 10,83
28 The share R  HARDOX500 969092/P 1,3 13,43
29 The share L HARDOX500 969192/L 1,3 13,43
30 The breast P HARDOX500 929413/P 2,4 20,78
31 The breast L HARDOX500 929433/L 2,4 20,78
32 The breast P HARDOX500 959400/P 2 19,01
33 The breast L HARDOX500 959420/L 2 19,01
34 The breast P HARDOX500 959403/P 2 19,01
35 The breast L HARDOX500 959423/L 2 19,01



36 The breast P HARDOX500 959405/P  969405/P 2,1 19,51
37 The breast L HARDOX500 959425/L  969425/L 2,1 19,51
38 The breast P HARDOX500 959407/P 2,2 20,27
39 The breast L HARDOX500 959427/L 2,2 20,27
40 The breast P HARDOX500 959415/P 2,1 19,51
41 The breast L HARDOX500 959435/L 2,1 19,51
42 The front slade R HARDOX500 123166/P 1,3 11,03
43 The front slade L HARDOX500 123112/L 1,3 11,03
44 The slade P  HARDOX500 4651292/P 3 23,31
45 The slade L  HARDOX500 4651292/L 3 23,31
46 The short slade P HARDOX500 BKG8/Pk 2,6 20,38
47 The long slade P HARDOX500 BKG8/Pd 3,2 23,51
48 The short slade P HARDOX500 123029/P 2,3 17,65
49 The short slade L HARDOX500 123159/L 2,3 17,65
50 The long slade P HARDOX500 123160/P 4,2 29,74
51 The long slade L HARDOX500 123161/L 4,2 29,74
52 The long slade P HARDOX500 123162/P 5 34,92
53 The long slade L HARDOX500 123163/L 5 34,92
54 The long slade P HARDOX500 123164/P 5,9 40,68
55 The long slade L HARDOX500 123165/L 5,9 40,68
56 Skim mouldboard P HARDOX450 VD141/P 1,2 15,20
57 Skim mouldboard L HARDOX450 VD141/L 1,2 15,20
58 Mouldboard P HARDOX450 BKG8/P 5,1 43,69
59 Mouldboard P/L HARDOX500 123722/S 15,9 114,49

To the plough  LANDSBERG
1 The chisel P  HARDOX500 41662/P 2,5 20,89
2 The chisel L  HARDOX500 41663/L 2,5 20,89
3 The chisel P  B38 41856/P 2,5 20,89
4 The chisel L  B38 41857/L 2,5 20,89
5 The chisel P  HARDOX500 1903675/P 1,1 10,03
6 The chisel L  HARDOX500 1903676/L 1,1 10,03
7 The share R HARDOX500 1903684/P 3,4 28,00
8 The share L HARDOX500 1903685/L 3,4 28,00
9 The share R HARDOX500 1903686/P 4 32,89

10 The share L HARDOX500 1903687/L 4 32,89
11 The share R HARDOX500 1903946/P 4,5 36,46
12 The share L HARDOX500 1903947/L 4,5 36,46
13 The share R HARDOX500 1902680/P 3,9 31,72
14 The share L HARDOX500 1902690/L 3,9 31,72
15 The share R HARDOX500 1903020/P 4,6 36,98
16 The share L HARDOX500 1903030/L 4,6 36,98
17 The share R HARDOX500 1902740/P 5 39,91
18 The share L HARDOX500 1902750/L 5 39,91
19 The share R HARDOX500 1903654/P 5,5 43,63
20 The share L HARDOX500 1903655/L 5,5 43,63
21 The share R HARDOX500 1903671/P 5,3 41,05
22 The share L HARDOX500 1903672/L 5,3 41,05
23 The share R HARDOX500 1903673/P 5,8 46,10
24 The share L HARDOX500 1903674/L 5,8 46,10
25 The share R HARDOX500 1847Z/P 1,5 14,59
26 The share L HARDOX500 1848Z/L 1,5 14,59
27 The share R HARDOX500 1903693/P 1,9 18,05
28 The share L HARDOX500 1903694/L 1,9 18,05
29 The share R HARDOX500 1903695/P 1,3 13,13



30 The share L HARDOX500 1903696/L 1,3 13,13
31 The breast P HARDOX500 1765Z/P 1,6 17,22
32 The breast L HARDOX500 1766Z/L 1,6 17,22
33 The breast P HARDOX500 41584Z/P 2,1 19,95
34 The breast L HARDOX500 41585Z/L 2,1 19,95
35 The breast P HARDOX500 41617A/P 1,8 18,50
36 The breast L HARDOX500 41618A/L 1,8 18,50
37 The breast P HARDOX500 41623A/P 2,7 24,07
38 The breast L HARDOX500 41624A/L 2,7 24,07
39 The breast P HARDOX500 41884/P 2,4 21,65
40 The breast L HARDOX500 41885/L 2,4 21,65
41 The breast P HARDOX500 1903524/P 2,1 19,95
42 The breast L HARDOX500 1903525/L 2,1 19,95
43 The cutter P HARDOX500 33097/P   P261/P 3,5 29,43
44 The cutter L HARDOX500 33098/L   P261/L 3,5 29,43
45 The cutter P HARDOX500 33156/P 2,9 24,69
46 The cutter L HARDOX500 33157/L 2,9 24,69
47 Holder P HARDOX400 P26/P 1,5 13,30
48 Holder L HARDOX400 P26/L 1,5 13,30
49 Back slat of moldboard P HARDOX500 41538Z/P 1,3 10,39
50 Back slat of moldboard L HARDOX500 41539Z/L 1,3 10,39
51 The slade P HARDOX500 805Z/P 4,5 32,94
52 The slade L HARDOX500 806Z/L 4,5 32,94
53 The short slade P HARDOX500 1499Z/P 5,1 37,62
54 The short slade L HARDOX500 1500Z/L 5,1 37,62
55 The long slade P HARDOX500 1497Z/P 6,4 45,61
56 The long slade L HARDOX500 1498Z/L 6,4 45,61
57 The slade P HARDOX500 41816Z/P 41869Z/P 5,2 38,52
58 The slade L HARDOX500 41816Z/L 41869Z/L 5,2 38,52
59 The lap P/L HARDOX500 41793Z/S 3,1 24,58
60 The leg HARDOX500 Słupica Servo1 7,4 96,55

To the plough  ROWER
1 The chisel P  HARDOX500 702120/P 2 16,05
2 The chisel L  HARDOX500 702121/L 2 16,05
3 The share P HARDOX500 702122/P 2,1 18,47
4 The share L HARDOX500 702123/L 2,1 18,47
5 The share R HARDOX500 N558/P 3,6 29,84
6 The share R HARDOX500 N258/P 4,9 39,07
7 The share R HARDOX500 N158/P 7,2 56,79
8 The breast P HARDOX450 702948/P 1,7 16,47
9 The short slade P HARDOX500 N256/P 2,9 21,49

To the plough  GREGOIRE BESSON
1 The chisel P/L  HARDOX500 171207/S 5,3 45,59
2 The chisel 12 mm  HARDOX500 173332/P 1,7 14,13
3 The chisel 12 mm  HARDOX500 173331/L 1,7 14,13
4 The chisel P  HARDOX500 177328/P 1,6 13,96
5 The chisel L  HARDOX500 177327/L 1,6 13,96
6 The share P HARDOX500 172402/P 172418/P 4,5 36,46
7 The share L HARDOX500 172401/L  172417/L 4,5 36,46
8 The share P HARDOX500 172614/P 5,2 41,81
9 The share L HARDOX500 172613/L 5,2 41,81

10 The share P HARDOX500 173410/P 6,1 48,25
11 The share L HARDOX500 173409/L 6,1 48,25
12 The share P HARDOX500 173424/P 5,1 40,69



13 The share L HARDOX500 173423/L 5,1 40,69
14 The share P HARDOX500 173610/P 6,6 52,07
15 The share L HARDOX500 173609/L 6,6 52,07

16 The share P HARDOX500
173614/P     178126/P     

177602/P 5,7 44,94

17 The share L HARDOX500
173613/L      178125/L      

177601/L 5.7 44,94
18 The share P HARDOX500 173802/P 6,5 51,72
19 The share L HARDOX500 173801/L 6,5 51,72
20 The share P HARDOX500 19114/P 0,9 10,83
21 The share L HARDOX500 19113/L 0,9 10,83
22 The share P HARDOX500 19126/P 1,4 13,68
23 The share L HARDOX500 19125/L 1,4 13,68
24 The breast P HARDOX500 173322/P 2,3 21,97
25 The breast L HARDOX500 173321/L 2,3 21,97
26 The breast P HARDOX500 173336/P 2,5 23,21
27 The breast L HARDOX500 173335/L 2,5 23,21
28 The breast P HARDOX500 173340/P 2 19,51
29 The breast L HARDOX500 173339/L 2 19,51
30 The breast P HARDOX500 173346/P 2,2 19,90
31 The breast L HARDOX500 173345/L 2,2 19,90
32 The breast P HARDOX500 173476/P 2,1 20,27
33 The breast L HARDOX500 173475/L 2,1 20,27
34 The breast P HARDOX500 177428/P 2,1 20,27
35 The breast L HARDOX500 177429/L 2,1 20,27
36 The breast P HARDOX500 178114/P 3,8 30,41
37 The breast L HARDOX500 178113/L 3,8 30,41
38 The cutter P HARDOX500 19303/P 3,7 31,34
39 The cutter L HARDOX500 19304/L 3,7 31,34
40 Holder P HARDOX500 19301/P 2,2 16,47
41 Holder L HARDOX500 19302/L 2,2 16,47
42 Back slat of moldboard P HARDOX500 172312/P 1,8 12,67
43 Back slat of moldboard L HARDOX500 172311/L 1,8 12,67
44 The short slade P/L HARDOX500 172338/S 2,6 19,73
45 The long slade P HARDOX500 172380/P 5 39,02
46 The long slade L HARDOX500 172380/L 5 39,02
47 The short slade P HARDOX500 173334/P  173338/P 2,5 19,01
48 The short slade L HARDOX500 173333/L  173337/L 2,5 19,01
49 The long slade P/L HARDOX500 173387/S 5,2 36,46
50 The long slade P HARDOX500 173388/P 4,9 34,02
51 The long slade L HARDOX500 173388/L 4,9 34,02
52 The slade P/L HARDOX500 177312/S 5,7 40,54
53 The long slade P HARDOX500 177319/P 5,1 36,05
54 The long slade L HARDOX500 177319/L 5,1 36,05
55 The long slade P HARDOX500 177MOL/P 7,5 53,29
56 The long slade L HARDOX500 177MOL/L 7,5 53,29
57 The lap S HARDOX500 177349/S 2,9 24,18
58 The lap P HARDOX500 172380A/P 2,9 24,18
59 The lap L HARDOX500 172380A/L 2,9 24,18

To the plough  EBERHARDT
1 The chisel P  HARDOX500 302490/P 300336/P 2,2 17,44
2 The chisel L  HARDOX500 302491/L 300335/L 2,2 17,44
3 The share P  HARDOX500 54550/P 5,6 44,14
4 The share L  HARDOX500 54551/L 5,6 44,14
5 The share P  HARDOX500 54560/P 5,2 42,21



6 The share L  HARDOX500 54561/L 5,2 42,21
7 The share P  HARDOX500 54564/P 5,2 42,21
8 The share L  HARDOX500 54565/L 5,2 42,21
9 The share P  HARDOX500 302488/P 3,1 25,86

10 The share L  HARDOX500 302487/L 3,1 25,86
11 The share P  HARDOX500 306196/P 5,2 42,21
12 The share L HARDOX500 306195/L 5,2 42,21
13 The share P  HARDOX500 22602/P 1 11,51
14 The share L HARDOX500 22603/L 1 11,51
15 The breast P HARDOX500 STB40000/P 2,1 19,95
16 The breast L HARDOX500 STB40001/L 2,1 19,95
17 The short slade P HARDOX500 110210/P 3 21,98
18 The short slade L HARDOX500 110211/L 3 21,98
19 The long slade P HARDOX500 110222/P 5,6 38,61
20 The long slade L HARDOX500 110223/L 5,6 38,61
21 The slade P/L  HARDOX500 301162/S 4 28,42

To the plough  FROST
1 The chisel P  HARDOX500 50612/P 2,2 17,47
2 The chisel L  HARDOX500 50613/L 2,2 17,47
3 The share P  HARDOX500 50618/P 3,7 35,23
4 The share L  HARDOX500 50619/L 3,7 35,23
5 The share P  HARDOX500 50587/P 5 39,91
6 The share L  HARDOX500 50588/L 5 39,91
7 The share P  HARDOX500 50589/P 5,6 44,42
8 The share L  HARDOX500 50590/L 5,6 44,42
9 The share P  HARDOX500 51769/P 9,1 73,10

10 The share L  HARDOX500 51770/L 9,1 73,10
11 The share P  HARDOX500 50614/P 5,9 51,24
12 The share L  HARDOX500 50615/L 5,9 51,24
13 The share P  HARDOX500 50602/P 1,3 13,13
14 The share L  HARDOX500 50603/L 1,3 13,13
15 The share P  HARDOX500 50604/P 1,3 10,14
16 The share L  HARDOX500 50605/L 1,3 10,14
17 The breast P HARDOX500 50552/P 1,2 13,94
18 The breast L HARDOX500 50553/L 1,2 13,94
19 The breast P HARDOX500 51148/P 2,8 24,07
20 The breast L HARDOX500 51149/L 2,8 24,07
21 The breast P HARDOX500 51154/P 2,7 23,76
22 The breast L HARDOX500 51155/L 2,7 23,76
23 Back slat of moldboard P HARDOX450 51201/P 2,5 16,15
24 Back slat of moldboard L HARDOX450 51202/L 2,5 16,15
25 The slade P HARDOX500 51213/P 1,6 13,11
26 The slade L HARDOX500 51214/L 1,6 13,11
27 The slade P HARDOX500 51205/P 4,8 33,43
28 The slade L HARDOX500 51206/L 4,8 33,43
29 The slade P HARDOX500 51207/P 4,8 33,43
30 The slade L HARDOX500 51208/L 4,8 33,43
31 The slade P HARDOX500 51209/P 4,2 30,39
32 The slade L HARDOX500 51210/L 4,2 30,39
33 The slade P HARDOX500 51211/P 5,6 42,74
34 The slade L HARDOX500 51212/L 5,6 42,74
35 The lap P/L  HARDOX500 311000/S 2,8 22,81

To the cultivator  FROST
1 The share P  HARDOX500 51542/P 2 18,62



2 The share L  HARDOX500 51543/L 2 18,62
3 The share P  HARDOX500 51749/P   51842/P 1,8 16,72
4 The share L  HARDOX500 51750/L   51843/L 1,8 16,72
5 The share P  HARDOX500 51834/P 2,2 20,52
6 The share L  HARDOX500 51835/L 2,2 20,52

To the plough  POTTINGER
1 The chisel P HARDOX500 925130111/P 2,8 21,35
2 The chisel  L HARDOX500 925130211/L 2,8 21,35
3 The chisel P  HARDOX500 925260110/P 2,8 21,35
4 The chisel L  HARDOX500 925260210/L 2,8 21,35
5 The chisel P HARDOX500 930201250/P 1,8 14,65
6 The chisel  L HARDOX500 930211250/L 1,8 14,65
7 The chisel P HARDOX500 930701260/P 1,4 12,16
8 The chisel  L HARDOX500 930711260/L 1,4 12,16
9 The chisel P B38 930761270/P 1,6 13,61

10 The chisel  L HARDOX500 930771270/L 1,6 13,61
11 The share P  HARDOX500 925131161/P 5,2 41,48
12 The share L  HARDOX500 925131261/L 5,2 41,48
13 The share P  HARDOX500 925260131/P 6,2 48,89
14 The share L  HARDOX500 925260231/L 6,2 48,89
15 The share P  HARDOX500 930401200/P 7,2 57,18
16 The share L  HARDOX500 930411200/L 7,2 57,18
17 The share P  HARDOX500 930762210/P 5,6 44,52
18 The share L  HARDOX500 930772210/L 5,6 44,52
19 The share P  HARDOX500 930761210/P 6,5 51,81
20 The share L  HARDOX500 930771210/L 6,5 51,81
21 The share P  HARDOX500 930781221/P 6,8 53,73
22 The share L  HARDOX500 930791220/L 6,8 53,73
23 The share P  HARDOX500 921052250/P 1,2 12,67
24 The share L  HARDOX500 921062250/L 1,2 12,67
25 The share P  HARDOX500 921021480/P 1,4 13,68
26 The share L  HARDOX500 921021580/L 1,4 13,68
27 The breast P HARDOX500 928500250/P 2,4 21,54
28 The breast L HARDOX500 928510250/L 2,4 21,54

29 The breast P HARDOX500

930760350/P   
930760370/P   
930780363/P

2,5
22,05

30 The breast L HARDOX500

930770350/L   
930770370/L   
930790363/L

2,5
22,05

31 The breast P HARDOX500 930821350/P 2,9 24,07
32 The breast L HARDOX500 930831350/L 2,9 24,07
33 The cutter P HARDOX500 930740100/P 3,5 29,44
34 The cutter L HARDOX500 930750100/L 3,5 29,44
35 The slade P HARDOX500 929100001/P 1 10,14
36 The slade L HARDOX500 929100050/L 1 10,14
37 The slade P HARDOX500 929101000/P 1,5 12,54
38 The slade L HARDOX500 929101050/L 1,5 12,54
39 The slade P HARDOX500 930700050/P 2 15,54
40 The slade L HARDOX500 930710050/L 2 15,54
41 The slade P HARDOX500 930760051/P 2,2 16,61
42 The slade L HARDOX500 930770051/L 2,2 16,61
43 The slade P HARDOX500 930780050/P 1,9 15,01
44 The slade L HARDOX500 930790050/L 1,9 15,01
45 The slade P HARDOX500 930821150/P 2,4 17,87
46 The slade L HARDOX500 930831150/L 2,4 17,87
47 The slade P/L  HARDOX500 902950050/S 2,6 20,27
48 The slade P/L  HARDOX500 902950250/S 4,1 30,70



49 The slade P/L  HARDOX500 940950050/S 6 42,21
50 The slade P/L  HARDOX500 940950250/S 3,6 26,86
51 The slade P/L HARDOX500 929100101/S 5,9 40,68
52 The slade P/L  HARDOX500 929100201/S 4,3 34,54
53 The slade P/L  HARDOX500 929100210/S 7 55,26

To the cultivator  POTTINGER
1 The share R  HARDOX500 939502201/P 1,3 12,61
2 The share L  HARDOX500 939502211/L 1,3 12,61
3 The share R  HARDOX500 966500310/P 2,3 20,27
4 The share L  HARDOX500 966500210/L 2,3 20,27

To the plough  FRAUGDE
1 The share P  HARDOX500 93136/P 5,3 54,14
2 The share L  HARDOX500 93137/L 5,3 54,14
3 The share P  HARDOX500 93138/P 5,5 56,99
4 The share L  HARDOX500 93139/L 5,5 56,99
5 The share P  HARDOX500 93114/P 6,8 53,73
6 The share L  HARDOX500 93115/L 6,8 53,73
7 The long slade P HARDOX500 93600/P 8,5 58,62
8 The long slade L HARDOX500 93601/L 8,5 58,62
9 The long slade P HARDOX500 93635/P 5,3 36,77

10 The long slade L HARDOX500 93636/L 5,3 36,77
11 The long slade P HARDOX500 93650/P 4,2 30,39
12 The long slade L HARDOX500 93651/L 4,2 30,39

To the plough  HOWARD
1 The share P/L  HARDOX500 187314/S 7,5 58,89
2 The share P/L  HARDOX500 8211125/S 7 55,09
3 The breast P/L HARDOX450 187051/S 1 25,34
4 The short slade P/L HARDOX500 8211125/Sk 2,2 16,47
5 The long slade P/L HARDOX500 8211125/Sd 3,3 24,07
6 Mouldboard P/L HARDOX500 60017/S 14,2 105,97

To the plough  DIN
1 The chisel  welded P HARDOX500

18035005/P 0,5 5,03

2 The chisel  welded L HARDOX500
18035006/L 0,5 5,03

3 The share R  HARDOX500 384/P 3,2 26,75

4 The share L  HARDOX500 384/L 3,2 26,75
5 The share R  HARDOX500 436/P 3,5 28,83

6 The share L  HARDOX500 436/L 3,5 28,83

To the plough  SKJOLD
1 The chisel P HARDOX500 90060185/P 2 15,47

2 The chisel L HARDOX500 90060189/L 2 15,47

3 The chisel P HARDOX500 90062090/P 3,1 28,64

4 The chisel L HARDOX500 90062091/L 3,1 28,64

5 The bracket P  HARDOX500 90062104/P 2,5 23,21

6 The bracket L  HARDOX500 90062109/L 2,5 23,21

7 The bracket P  HARDOX500 90242010/P 2,1 19,98

8 The bracket L  HARDOX500 90242011/L 2,1 19,98

9 The share R  HARDOX500 90060001/P 6,5 53,89

10 The share L  HARDOX500 90060051/L 6,5 53,89

11 The share R  HARDOX500 90060002/P 7,4 61,35

12 The share R  HARDOX500 90060004/P 3,5 28,79

13 The share L  HARDOX500 90060054/L 3,5 28,79

14 The share R  HARDOX500 90060005/P 4,5 37,30

15 The share L  HARDOX500 90060055/L 4,5 37,30

16 The share R  HARDOX500 90060354/P 3,7 32,62



17 The share L  HARDOX500 90060355/L 3,7 32,62

18 The share R  HARDOX500 90062106/P 2,6 29,01

19 The share L  HARDOX500 90062108/L 2,6 29,01

20 The head of the share R  HARDOX500 90060184/P 1,2 10,62

21 The head of the share L  HARDOX500 90060188/L 1,2 10,62

22 The share R  HARDOX500 90898061/P 1,3 13,13

23 The share L  HARDOX500 90898062/L 1,3 13,13

24 The breast P HARDOX500 90060332/P 4,9 38,38

25 The breast L HARDOX500 90060333/L 4,9 38,38

26 The breast P HARDOX500 90063161/P 2,4 22,64

27 The breast L HARDOX500 90063170/L 2,4 22,64

28 Back slat of moldboard P HARDOX450 23485/P 2,2 14,25

29 Back slat of moldboard L HARDOX450 23486/L 2,2 14,25

30 The short slade P HARDOX500 90063102/P 5,1 35,39

31 The short slade L HARDOX500 90063008/L 5,1 35,39
32 The long slade P HARDOX500 90063103/P 6,8 48,27
33 The long slade L HARDOX500 90063009/L 6,8 48,27
34 The short slade P/L HARDOX500 90230020/S 2,8 23,03
35 The slade P/L HARDOX500 90060347/S 4,1 29,02
36 The long slade P/L HARDOX500 90060348/S 5,4 38,38
37 The lap P/L HARDOX500 90060349/S 1,3 12,35
38 The lap P/L HARDOX500 90063163/S 2,8 22,81

To the plough  VENTZKI
1 The share P  HARDOX500 405101/P 2,8 23,53

2 The share L  HARDOX500 405102/L 2,8 23,53

3 The share P  HARDOX500 406001/P 2,9 24,32

4 The share L  HARDOX500 406002/L 2,9 24,32

5 The share P  HARDOX500 7422000/P 0,7 9,21

6 The share L  HARDOX500 7422001/L 0,7 9,21

7 The short slade P HARDOX500 384125/P 2,5 18,81
8 The short slade L HARDOX500 384126/L 2,5 18,81
9 The long slade P HARDOX500 384291/P 3 21,94

10 The long slade L HARDOX500 384292/L 3 21,94
11 The long slade P HARDOX500 384293/P 3,7 26,65
12 The long slade L HARDOX500 384294/L 3,7 26,65

To the plough  NAUD
1 The chisel P  HARDOX500 3054502/P 2 16,07

2 The chisel L  HARDOX500 3054502/L 2 16,07

3 The share R  HARDOX500 3054452/P 6,5 55,97

4 The share L  HARDOX500 3054452/L 6,5 55,97

5 The share R  HARDOX500 31187D/P 7,4 73,76

6 The share L  HARDOX500 31187D/L 7,4 73,76

7 The share R  HARDOX500 4032101/P 0,9 10,83

8 The share L  HARDOX500 4032101/L 0,9 10,83

9 The share R  HARDOX500 4032104/P 1,3 13,13

10 The share L  HARDOX500 4032104/L 1,3 13,13

11 The slade P/L HARDOX500 3065201/S 2,5 18,81

12 The slade P/L HARDOX500 3065501/S 3,7 26,97

13 The slade P/L HARDOX500 3065101/S 4,5 31,76

14 Skim mouldboard P HARDOX450 4022101/P 1,5 17,10
15 Skim mouldboard L HARDOX450 4022101/L 1,5 17,10

To the plough  REGENT
1 The chisel P  B38 3318601/P 2,1 16,79

2 The chisel L  B38 3318602/L 2,1 16,79



3 The chisel P  B38 DSG500/P 2 19,01

4 The chisel L  B38 DSG500/L 2 19,01

5 The share R  HARDOX500 DU35S/P 5,1 40,70

6 The share L  HARDOX500 DU35S/L 5,1 40,70

7 The share R  HARDOX500 DW35S/P 5,4 43,08

8 The share L  HARDOX500 DW35S/L 5,4 43,08

9 The share R  HARDOX500 DU433S/P 5,1 40,71

10 The share L  HARDOX500 DU433S/L 5,1 40,71

11 The share R  HARDOX500 DU435S/P 5,4 43,08

12 The share L  HARDOX500 DU435S/L 5,4 43,08

13 The share R  HARDOX500 DW435S/P 5,4 43,08

14 The share L  HARDOX500 DW435S/L 5,4 43,08

15 The share R  HARDOX500 3318671/P 6,4 50,54

16 The share L  HARDOX500 3318672/L 6,4 50,54

17 The share R  HARDOX500 DG540/P 3 28,38

18 The share L  HARDOX500 DG540/L 3 28,38

19 The share R  HARDOX500 DG545/P 3,7 31,68

20 The share R  HARDOX500 3327196/P 1,2 12,67

21 The share L  HARDOX500 3327164/L 1,2 12,67

22 The short slade P HARDOX500 16001181/P 3,7 26,75

23 The short slade L HARDOX500 16001182/L 3,7 26,75

24 The long slade P HARDOX500 16002121/P 4,2 29,70

25 The long slade L HARDOX500 16002122/L 4,2 29,70

26 The short slade P HARDOX500 43201151/P 4,4 32,62

27 The short slade L HARDOX500 43201152/P 4,4 32,62

28 The long slade P HARDOX500 17002111/P 6,3 43,37

29 The long slade L HARDOX500 17002112/P 6,3 43,37
30 The slade P HARDOX500 93640251/P 5,3 37,04
31 The slade L HARDOX500 93640252/L 5,3 37,04
32 The lap  HARDOX500 1600220/S 2,5 20,27
33 The lap  HARDOX500 1700221/S 4,2 29,78

To the plough  BRIX
1 The chisel P  HARDOX500 415256/P 1,4 11,97

2 The chisel L  HARDOX500 415300/L 1,4 11,97

3 The share R  HARDOX500 405127/P 6,6 52,07

4 The share L  HARDOX500 405128/L 6,6 52,07

5 The share P HARDOX500 400742/P 1 10,83

6 The share L HARDOX500 415309/L 1 10,83

7 The breast P HARDOX500 405103/P 3,4 27,87

8 The breast L HARDOX500 405104/L 3,4 27,87

9 The breast P HARDOX500 401263/P 1,7 17,27

10 The breast L HARDOX500 415308/L 1,7 17,27

11 The long slade P HARDOX500 400542/P 7,5 54,48

12 The slade P HARDOX500 415284/P 6,6 45,97

13 The slade L HARDOX500 415301/L 6,6 45,97

14 The lap  HARDOX500 415163/S 1,5 13,30

15 The lap  HARDOX500 415164/S 3,3 24,87

To the plough  FENET
1 The chisel P  HARDOX500 do FENET 1,6 12,91
2 The chisel L  HARDOX500 do FENET 1,6 12,91
3 The share R  HARDOX500 23052/P 4,5 37,99
4 The share L  HARDOX500 23053/L 4,5 37,99
5 The share R  HARDOX500 2145/P 5,3 45,59
6 The share L  HARDOX500 2146/L 5,3 45,59



7 The short slade P HARDOX500 8100/P 3,4 27,87

8 The short slade L HARDOX500 8101/L 3,4 27,87

9 The long slade P HARDOX500 8102/P 3,8 30,41
10 The long slade L HARDOX500 8103/L 3,8 30,41

To the plough  INTERNATIONAL
1 The chisel P  HARDOX500 1867673/P 1,3 11,24
2 The chisel L  HARDOX500 1867672/L 1,3 11,24
3 The share R  HARDOX500 1867679/P 2214/P 5 42,21
4 The share L  HARDOX500 1867678/L 2215/L 5 42,21
5 The short slade P HARDOX500 316093/Pk 2,5 21,11
6 The short slade L HARDOX500 737559/Lk 2,5 21,11
7 The long slade P HARDOX500 316093/Pd 3,5 27,87
8 The long slade L HARDOX500 737559/Ld 3,5 27,87

To the plough  SOUCHU PINET
1 The share P  HARDOX500 1186/P 1867675/P 6,2 51,81
2 The share L  HARDOX500 1187/L 1867674/L 6,2 51,81
3 The share P HARDOX500 2756/P 1,1 11,28
4 The share L HARDOX500 2755/L 1,1 11,28
5 The short slade P HARDOX500 k/P 4,7 34,72
6 The short slade L HARDOX500 k/L 4,7 34,72
7 The long slade P HARDOX500 d/P 7,2 51,17
8 The long slade L HARDOX500 d/L 7,2 51,17

To the plough  RUMPTSTAD
1 The chisel P  HARDOX500 18102/P 2,4 19,19
2 The chisel L  HARDOX500 18101/L 2,4 19,19
3 The chisel P  HARDOX500 18136/P 2,6 21,89
4 The chisel L  HARDOX500 18135/L 2,6 21,89
5 The share P  HARDOX500 18104/P 4,3 36,46
6 The share L  HARDOX500 18103/L 4,3 36,46
7 The share P  HARDOX500 18122/P 4,9 39,65
8 The share L  HARDOX500 18121/L 4,9 39,65
9 The share P  HARDOX500 18106/P 5,4 44,35

10 The share L  HARDOX500 18105/L 5,4 44,35
11 The share P  HARDOX500 18118/P 4 34,21
12 The share L  HARDOX500 18117/L 4 34,21
13 The share P  HARDOX500 1210/P 7,4 59,55
14 The share L  HARDOX500 1209/L 7,4 59,55
15 The share P  HARDOX500 0227/P 5,5 46,05
16 The share P  HARDOX500 0354/P 1,3 13,43
17 The share L  HARDOX500 0351/L 1,3 13,43
18 The breast P HARDOX500 RS28008/P 5,1 39,28
19 The breast L HARDOX500 RS28007/L 5,1 39,28
20 The short slade P HARDOX500 RS20544/Pk 6 43,59
21 The short slade L HARDOX500 RS20545Pk 6 43,59
22 The long slade P HARDOX500 RS20544/Pd 7,9 55,75
23 The long slade L HARDOX500 RS20545/Pd 7,9 55,75

To the plough  DURO
1 The chisel P  HARDOX500 6432/P 1,6 13,40
2 The chisel L  HARDOX500 6431/L 1,6 13,40
3 The share R  HARDOX500 6429/P 7,6 64,58
4 The share L  HARDOX500 6430/L 7,6 64,58
5 The breast P HARDOX500 5954/P 1,7 16,75
6 The breast L HARDOX500 5955/L 1,7 16,75
7 The breast P HARDOX500 6920/P 1,8 17,80



8 The breast L HARDOX500 6921/L 1,8 17,80
To the plough  MASCHIO Gaspardo

1 The share R  HARDOX500 A51908100R/P 6 47,64
2 The share L  HARDOX500 A51908110R/L 6 47,64
3 The short slade P/L HARDOX500 64000044/S 4 28,79
4 The long slade P/L HARDOX500 64000045/S 5 35,31

To the plough  KYLLINGSTAD
1 The share P  HARDOX500 400512/P 6,5 56,42
2 The share P  HARDOX500 400514/P 7,5 67,61
3 The share P  HARDOX500 401222/P 2,6 23,03
4 The share P  HARDOX500 415084/P 3,8 31,68

To the plough  STEENO
1 The chisel P  HARDOX500 30340002/P 3 36,88

2 The chisel L  HARDOX500 30340001/L 3 36,88

3 The chisel P  HARDOX500 30340006/P 2,4 18,81

4 The chisel L  HARDOX500 30340005/L 2,4 18,81

5 The share R  HARDOX500 24017801/P 2,1 19,19

6 The share L  HARDOX500 24017802/L 2,1 19,19

7 The share R  HARDOX500 24064502/P 2,9 25,59

8 The share L  HARDOX500 24064501/L 2,9 25,59

9 The share R  HARDOX500 24064504/P 3,8 30,92

10 The share L  HARDOX500 24064503/L 3,8 30,92

11 The share R  HARDOX500 30340026/P 2,9 25,59
12 The share L  HARDOX500 30340025/L 2,9 25,59
13 The share R  HARDOX500 15002002/P 1,9 19,19
14 The share L  HARDOX500 15002001/L 1,9 19,19
15 The front slade P HARDOX500 24061925/P 1 9,98
16 The front slade L HARDOX500 24061926/L 1 9,98
17 The front slade P HARDOX500 24061902/P 1,4 12,79
18 The front slade L HARDOX500 24061901/L 1,4 12,79
19 The front slade P HARDOX500 24061924/P 1,6 14,63
20 The front slade L HARDOX500 24061923/L 1,6 14,63
21 The short slade P HARDOX500 24061912/P 1,3 12,35
22 The short slade L HARDOX500 24061911/L 1,3 12,35
23 The long slade P HARDOX500 24061916/P 1,7 15,35
24 The long slade L HARDOX500 24061915/L 1,7 15,35
25 The short slade P HARDOX500 24061914/P 1,8 15,35
26 The short slade L HARDOX500 24061913/L 1,8 15,35
27 The long slade P HARDOX500 24061918/P 2,2 19,19
28 The long slade L HARDOX500 24061917/L 2,2 19,19
29 The slade P/L HARDOX500 24064101/S 24064104/S 5,3 38,38

To the plough  DOWDESWELL
1 The chisel P  HARDOX500 1176598/P 1,3 11,40
2 The chisel L  HARDOX500 1176599/L 1,3 11,40
3 The chisel P  HARDOX500 147298/P 2,5 19,54
4 The chisel L  HARDOX500 147299/L 2,5 19,54
5 The chisel P  B38 309798/P 1,3 11,40
6 The chisel L  B38 309799/L 1,3 11,40
7 The share P  HARDOX500 147898/P 1,8 17,74
8 The share L  HARDOX500 147899/L 1,8 17,74
9 The share P  HARDOX500 269798/P 2,2 21,54

10 The share L  HARDOX500 269799/L 2,2 21,54
11 The share P  HARDOX500 1115398/P 3,5 31,68
12 The share L  HARDOX500 1115399/L 3,5 31,68



13 The share P  HARDOX500 1138398/P 5,8 48,15
14 The share L  HARDOX500 1138399/L 5,8 48,15
15 The share R  HARDOX450 48098/P 1,2 12,67
16 The share L  HARDOX450 48099/L 1,2 12,67
17 The breast P HARDOX500 1462298/P 1,6 17,48
18 The breast L HARDOX500 1462299/L 1,6 17,48
19 The breast P HARDOX500 1462498/P 1,6 17,48
20 The breast L HARDOX500 1462499/L 1,6 17,48
21 The breast P HARDOX500 900649/P 1,5 16,47
22 The breast L HARDOX500 900650/L 1,5 16,47
23 Back slat of moldboard P HARDOX500 900642/P 1,9 13,18
24 Back slat of moldboard L HARDOX500 900641/L 1,9 13,18
25 The slade P HARDOX500 SCN1032/P 3,9 28,49
26 The slade L HARDOX500 SCN1031/L 3,9 28,49
27 The slade P HARDOX500 1018898/P 4,4 32,89
28 The slade L HARDOX500 1018899/L 4,4 32,89
29 The slade P/L HARDOX500 1136700/S 5,8 40,54
30 The slade P HARDOX500 1137498/P 7,5 53,73
31 The slade L HARDOX500 1137499/L 7,5 53,73

32 The slade P/L HARDOX500 164700/S 164798/S 4,1 30,01

33 The slade P/L HARDOX500 164898/S 6,4 46,05
34 The lap P/L HARDOX500 902121/S 2,8 22,13

To the plough  SUKOV
1 The share R  HARDOX500 Junior /P 3,6 30,70
2 The share L  HARDOX500 Junior /L 3,6 30,70
3 The share R  HARDOX500 SR30/P 4,5 36,74
4 The share L  HARDOX500 SR30/L 4,5 36,74
5 The share R  HARDOX500 KV09/P 6,8 53,78
6 The share L  HARDOX500 KV09/L 6,8 53,78
7 The breast P HARDOX500 122201/P 2,1 19,19
8 The breast L HARDOX500 122202/L 2,1 19,19
9 The cutter P HARDOX500 18220110/P 4 36,09

10 The cutter L HARDOX500 29220110/L 4 36,09
11 The slade P HARDOX500 KV09/Pp 1,7 13,94
12 The slade L HARDOX500 KV09/Lp 1,7 13,94
13 The long slade P HARDOX500 KV09/Pd 3,9 28,79
14 The long slade L HARDOX500 KV09/Ld 3,9 28,79
15 The slade P HARDOX500 Sukov3 6,4 45,61
16 The slade L HARDOX500 Sukov4 6,4 45,61

To the plough  BOVLUND
1 The chisel P  HARDOX500 16617/P 2,6 20,24
2 The chisel L  HARDOX500 16667/L 2,6 20,24
3 The share R  HARDOX500 16616/P 3,6 30,70
4 The share L  HARDOX500 16666/L 3,6 30,70
5 The long slade P HARDOX500 16630/P 8,6 59,49
6 The long slade L HARDOX500 16680/L 8,6 59,49

To the plough  BUGNOT
1 The chisel P  HARDOX500 6012B/P 1,5 12,55
2 The chisel L  HARDOX500 6013B/L 1,5 12,55
3 The share P  HARDOX500 6014B/P 5,6 44,14
4 The share L  HARDOX500 6015B/L 5,6 44,14
5 The share P  HARDOX500 6026B/P  6028B/P 6,8 55,32
6 The share L  HARDOX500 6027B/L  6029B/L 6,8 55,32
7 The share P  HARDOX500 5116/P 1 10,97



8 The share L  HARDOX500 5117/L 1 10,97
9 The breast P HARDOX500 5084/P 2,9 23,82

10 The breast L HARDOX500 5085/L 2,9 23,82
11 The short slade P HARDOX500 6004B/P 3,6 35,14
12 The short slade L HARDOX500 6005B/L 3,6 35,14
13 The long slade P HARDOX500 6002B/P 4,9 47,02
14 The long slade L HARDOX500 6003B/L 4,9 47,02

To the plough  GOIZIN
1 The chisel P  HARDOX500 10104/P 1,6 12,76
2 The chisel L  HARDOX500 10154/L 1,6 12,76
3 The share P  HARDOX500 10400/P 6,6 55,09
4 The share L  HARDOX500 10450/L 6,6 55,09
5 The share P  HARDOX500 10733/P 0,9 10,83
6 The share L  HARDOX500 10783/L 0,9 10,83
7 The share P  HARDOX500 10732/P 1,2 13,43
8 The share L  HARDOX500 10782/L 1,2 13,43
9 The breast P HARDOX500 10526/P 2,7 22,81

10 The breast L HARDOX500 10576/L 2,7 22,81
11 The breast P HARDOX500 11504/P 1,2 13,30
12 The breast L HARDOX500 11554/L 1,2 13,30
13 The breast P HARDOX500 11626/P 1,6 17,48
14 The breast L HARDOX500 11676/L 1,6 17,48
15 Back slat of moldboard P HARDOX450 10202/P 1,6 11,97
16 Back slat of moldboard L HARDOX450 10252/L 1,6 11,97
17 The slade P HARDOX500 10334/P 2,7 20,27
18 The slade L HARDOX500 10384/L 2,7 20,27
19 The slade P HARDOX500 10534/P 3,3 24,07
20 The slade L HARDOX500 10584/L 3,3 24,07
21 The lap P/L HARDOX500 10327/S 2,6 21,54

To the plough  BONNEL
1 The chisel P  HARDOX500 13200074/P 1,9 16,46
2 The chisel L  HARDOX500 13200075/L 1,9 16,46
3 The share P  HARDOX500 13200005/P 8 65,51
4 The share L  HARDOX500 13200006/L 8 65,51
5 The share P  HARDOX500 13200008/P 7,1 56,90
6 The share L  HARDOX500 13200009/L 7,1 56,90
7 The share P  HARDOX500 13100147/P 1,7 17,10
8 The share L  HARDOX500 13100148/L 1,7 17,10
9 The slade P/L HARDOX500 13100152/S 3,9 28,79

10 The lap P/L HARDOX500 5032020900/S 2,1 17,74
To the plough  KARSTEN

1 The chisel  HARDOX500 S 4,8 43,08
2 The share R  HARDOX500 P 1,2 13,43
3 The share L  HARDOX500 L 1,2 13,43

To the Aggregate FARMET
1 The share R  HARDOX500 1738600020/P 2,3 18,75

2 The share L  HARDOX500 1738600030/L 2,3 18,75

To the Aggregate HORSCH
1 The beak of the coulter  HARDOX500 34060850/S 1,8 15,20

To the Aggregate KONGSKILDE
1 The beak of the coulter  HARDOX500 101003120/S 1,8 15,20

The tillage  aggregate
1 The cultivation point  6x40x200 0,35 1,23

2 The cultivation point straight 6x40x210 3371000/S 0,35 1,23



3 The cultivation point straight 6x40x135 0,22 1,03

The cultivator
1 The cultivation point 1410/01006/S 0,45 1,47

The cultivator russian KPC190
1 The cultivation point КПЦ 02.402,  РК7 0,65 2,13

Polish Spreader
1 Spreader tine   HARDOX450 1,35 11,13

To Spreader LEBOULCH
1 Knife  HARDOX500 1,45 10,14

To Disc harrow HORSCH
1 Side plate P  HARDOX450 310892/6/P 4,2 63,35
2 Side plate L  HARDOX450 310892/6/L 4,2 63,35
3 Side plate P  HARDOX500 310892/8/P 5,6 83,62
4 Side plate L  HARDOX500 310892/8/L 5,6 83,62

To Disc harrow AGROMASZ
1 Scraper   HARDOX450 0,3 3,80

To Active harrow KUHN
1 Scraper   HARDOX450 52532130/S 0,2 3,82

To Active harrow RAU
1 Scraper   HARDOX450 0,31 4,56

To Active harrow BECKER
1 The straight tooth   HARDOX500 1 8,36
2 The bent tooth   HARDOX500 1,2 11,91

To Active harrow SICMA
1 Scraper   HARDOX450 ERS2500 0,4 4,56

To Active harrow SULKY
1 Scraper   HARDOX450 AB720345/S 0,17 3,07

To Active harrow AMAZONE
1 Scraper   HARDOX450 RE301 0,3 3,76

To Harvester-thresher DRONNINGBORG
1 Scythe guide HARDOX500 0,5 7,60

To Harvester-thresher CASE
1 Scraper   HARDOX450 IH1440 3,3 25,86

To The Beet combine HOLMER / ROPA
1 The share R  HARDOX500 1145004050/P 1,6 15,35
2 The share L  HARDOX500 1145004051/L 1,6 15,35
3 The share R  HARDOX500 1145010020/P 2,3 21,11

4 The share L  HARDOX500 1145010021/L 2,3 21,11
5 The share R  HARDOX500 1145019882/P 2,4 24,95
6 The share L  HARDOX500 1145019883/L 2,4 24,95

To Potato-combine harvester GRIMME
1 The share P  HARDOX450 08900029/P 1,6 20,38

2 The share L  HARDOX450 08900030/L 1,6 20,38

3 The share P  HARDOX450 08900031/P 1,4 18,81

4 The share L  HARDOX450 08900032/L 1,4 18,81

5 The share  HARDOX450 08900071/S 1,5 20,38

6 The share  HARDOX450 08900270/S 1,4 20,38

7 The share P  HARDOX450 08900354/P 2 21,94

8 The share L  HARDOX450 08900355/L 2 21,94

9 The share P  HARDOX450 08900357/P 2,5 26,64

10 The share L  HARDOX450 08900358/L 2,5 26,64

11 The share P  HARDOX450 08900456/P 2,7 28,21

12 The share L  HARDOX450 08900457/L 2,7 28,21

13 The share P  HARDOX450 08900463/P 2,5 26,65



14 The share L  HARDOX450 08900464/L 2,5 26,65

15 The share P  HARDOX450 08901439/P 2,6 43,88

16 The share L  HARDOX450 08901440/L 2,6 43,88

17 The share P  HARDOX450 08902490/P 3 31,91
18 The share L  HARDOX450 08902491/L 3 31,91

To Potato-combine harvester REEKE
1 The share C HARDOX500 2,5 37,30

2 The share P  HARDOX500 2,5 37,30

3 The share L  HARDOX500 2,5 37,30
To Corn-combine harvester STARK 
GRECAV

1 Knife HARDOX450 1,4 38,74

To Separator of stones REEKE
1 The share C  HARDOX500 1,8 26,11

2 Edge 1 HARDOX500 0,35 8,06
3 Edge 2 HARDOX500 0,6 9,02

To Strewer REEKE
1 The cultivation point UN15632/S 6,7 69,11

To Feed cart STOLL
1 The base of feed cart STOLL 2712-743X/S 5,4 38,38

To Soving-maschine KONGSKILDE
1 Coulter disc  HARDOX450 MultiJet 3m 4,6 46,05

To Soving-maschine NORDSTEN
1 Coulter disc  HARDOX450 KS3030 3,8 41,06

To Soving-maschine VREDO
1 Coulter disc  HARDOX450 3000P161-01/S 2,4 31,47
2 Sceaper of coulter P  HARDOX450 0,13 7,60
3 Sceaper of coulter L  HARDOX450 0,13 7,60

To Soving aggregate KVERNELAND
1 Sceaper of the shaft  HARDOX500  do Compact 3 0,4 4,31

To Soving-maschine KRAUSE
1 Coulter disc  HARDOX450 5500 2,8 28,79

To Soving-maschine BECKER
1 Coulter disc  HARDOX450 55412 1,2 21,11

To Soving-maschine MASCHIO Gaspardo
1 Coulter disc  HARDOX450 13825091D373 2 30,70
2 Coulter disc  HARDOX450 13825091D373/4 3,3 38,01
3 Coulter disc  HARDOX450 13825091D280 1,2 26,86

To The tillage  aggregate LELLY
1 Scraper of the shaft  HARDOX450 1164527821/S 0,3 4,31

To Chaff-cutter CLAAS
1 Cover  HARDOX450 682380/S 10,5 76,02
2 Cover  HARDOX450 762023/S 9,6 88,27
3 Cover  HARDOX450 763911/P 1,9 17,74
4 Cover  HARDOX450 763921/L 1,9 17,74
5 Side cover HARDOX450 6,7 50,68
6 Plate collecting of cemper  HARDOX450 42 364,59

Chaff-cutter Z305
1 Knife  HARDOX500 3 38,38

To Wrapper SIPMA
1 Holder  HARDOX500 3600-040-160.10/S 3,5 55,17

To Baler KRONE
1 Scraper  HARDOX450 280851/S 0,5 7,60
2 Scraper  HARDOX450 280852/S 0,9 17,74

To The trailer self-collecting KRONE



1 Star of rotor  HARDOX450 3349645/S 1,9 23,03
To The trailer self-collecting POTTINGER

1 Star of rotor  HARDOX500 3,3 51,17
To the Trailer self-collecting SCHUITEMAKER

1 Knife  HARDOX450 1252103/S  433999/S 0,76 23,03
Cutter of silage SPAWMECH

1 Rectangular knife HARDOX500 0,8 15,35
2 Triangular knife HARDOX500 1,3 22,26
3 Half triangular knife P HARDOX500 0,6 12,66
4 Half triangular knife L HARDOX500 0,6 12,66

Cutter of silage KĄTY
1 Long knife 1P HARDOX500 1,3 18,81
2 Long knife 1L HARDOX500 1,3 18,81
3 Long knife 2P HARDOX500 1,1 16,88
4 Long knife 2L HARDOX500 1,1 16,88
5 Triangular knife HARDOX500 1,2 21,87
6 Half triangular knife P HARDOX500 0,6 13,05
7 Half triangular knife L HARDOX500 0,6 13,05

Cutter of silage KREATEC
1  The side-knife 1100 HARDOX500 5,1 63,35
2  The side-knife 1001 4o HARDOX500 4,6 69,08
3  The side-knife 1000 HARDOX500 4,6 63,35
4  The side-knife 925 3o HARDOX500 4,2 63,35
5  The side-knife 850 HARDOX500 3,9 49,89
6 Triangular knife 171,5 HARDOX500 S171,5 1,7 28,79
7 Triangular knife 220 HARDOX500 S220 1,9 36,46
8 Half triangular knife 171,5 P HARDOX500 P171,5 1,3 25,71
9 Half triangular knife 220 P HARDOX500 P220 1,6 32,24

10 Half triangular knife 171,5 L HARDOX500 L171,5 1,3 25,71
11 Half triangular knife 220 L HARDOX500 L220 1,6 32,24

Packomat FRANDENT
1 Scraper 4mm HARDOX500 4mm 0,3 4,14
2 Scraper 6mm HARDOX500 6mm 0,4 5,37

To Strawchopper Teagle TOMAHAWK
1 Knife jerking 1g  HARDOX450 SC1012 0,5 21,11
2 Knife jerking 2g  HARDOX450 SC1013 0,5 24,95
3 Rotor blade  HARDOX500 SC1699 1,8 25,34
4 Holder  HARDOX450 5,85

Bale Cutter SPAWTECH
1 Knife  HARDOX500 HP1 0,3 30,70

To Rototiller LECKRON
1 Knife P/L  HARDOX500 SIM100 0,5 19,31

To Rototiller SB
1 Knife P  HARDOX500 SB/P 0,9 19,65
2 Knife L  HARDOX500 SB/L 0,9 19,65

To Rototiller FARMAX
1 Coulter HARDOX500 DHP180 LHD 6,8 106,38
2 Coulter HARDOX500 LRPS300 LDHK 11,3 161,46

To Rototiller IMANTS
1 The share S  HARDOX500 S22A220B155 1,6 26,86
2 The share P  HARDOX500 S22A220B200 3,5 57,57
3 The share L  HARDOX500 S22A220B200 3,5 57,57
4 The share P  HARDOX500 A250B210 3,4 57,57
5 The share L  HARDOX500 A250B210 3,4 57,57



To Planting maschine BASRIJS
1 Knife P  HARDOX500 0,6 14,11
2 Knife L  HARDOX500 0,6 14,11

To Forming maschine SCAN STONE
1 The share P  HARDOX500 UN15633/P 1,6 16,15
2 The share L  HARDOX500 UN15630/L 1,6 16,15

To Grubber LEMKEN
1 The share R/L  HARDOX500 3371686/S 6,8 85,48
2 The share R/L  HARDOX500 3374340/S 6,5 54,95

To Grubber KONGSKILDE ECO
1 Tooth  HARDOX500 3 88,69
2 Lap  HARDOX500 1,5 25,34

To Grubber UNIA Kret
1 The chisel  HARDOX500 GK020 8,4 94,98
2 Lap  HARDOX500 Nakładka 1,2 12,35

Bolts and nuts
1 Bolt M10x35  8,8 0,02 0,19

2 Bolt M10x35  10,9 0,02 0,29

3 Bolt M10x35  8,8  coulter 0,03 0,29

4 Bolt M10x50  8,8 0,04 0,29

5 Bolt M10x60  8,8 0,04 0,30

6 Bolt M12x35  8,8 0,03 0,38

7 Bolt M12x40  8,8 0,04 0,38

8 Bolt M12x50  10,9 0,05 0,38

9 Bolt M12x70   12,9 0,06 0,53

10 Bolt M12x90  12,9 0,09 0,76

11 Bolt M12x110  10,9 with nut 0,1 1,71

12 Bolt M16x50  8,8 with nut 0,08 0,68

13 Bolt M16x110  8,8 with nut 0,18 1,14

14 Bolt M20x60  8,8 with nut 0,21 1,04

15 Bolt M20x90  8,8 with nut 0,28 1,24

16 Bolt M22x70  10,9 with nut 0,31 3,80

17 Bolt M22x90  10,9 with nut 0,36 4,18

18 Bolt oval M10x34  12,9 with nut 0,02 0,47

19 Bolt oval M12x34  12,9 with nut 0,04 0,36

20 Bolt oval M12x40  12,9 with nut 0,05 0,42

21 Bolt oval M12x45  12,9 with nut 0,05 0,57

22 Bolt oval M12x55  12,9 with nut 0,06 0,57

23 Bolt oval M12x90  12,9 with nut 0,08 0,95

24 Bolt oval M14x34  12,9 with nut 0,06 0,42

25 Bolt oval 35149 M14x34  12,9 with nut 0,06 1,90

26 Bolt oval M14x38  12,9 with nut 0,06 0,57

27 Bolt oval M14x45  12,9 with nut 0,07 0,57

28 Bolt oval M14x60  10,9 with nut 0,08 0,57

29 Bolt oval M16x50  12,9 with nut 0,1 0,95
30 Bolt oval M16x75  12,9 with nut 0,15 1,14

31 Bolt oval M16x85  12,9 with nut 0,16 1,33

32 Bolt oval M18x90  10,9 with nut 0,22 1,33

33 Bolt oval M20x50  10,9 with nut 0,18 1,52

34 Bolt oval M20x90  10,9 with nut 0,27 2,54

35 Bolt to breast M10/35  10,9 0,02 0,25

36 Bolt to moldboard M12x35 0,03 0,38

37 Bolt to moldboard M12x50 0,04 0,38

38 Bolt to coulter M10/30  12,9 0,02 0,25



39 Screw conical M12/65 10,9 with nut 0,07 0,57

40 Screw conical M14/60 10,9 with nut 0,09 0,95

41 Screw conical M16/60 10,9 with nut 0,12 1,14

42 Screw conical M18/70 10,9 with nut 0,13 2,00

43 Screw conical M20/50 10,9 with nut 0,18 1,34

44 Screw conical M20/70 10,9 with nut 0,17 2,09

45 Screw conical M20/70 10,9 with nut 0,21 2,47

46 Screw conical M24/70 10,9 with nut 0,3 3,80

47 Screw conical M24/90 10,9 with nut 0,4 4,56

48 Nut M10   5,8 0,01 0,05

49 Nut M10   8,8 0,01 0,06

50 Nut M12   5,8 0,015 0,07

51 Nut M12   8,8 0,015 0,10

52 Pillow 12 0,005 0,10
The builder’s machines

1 Podeszwa stopy BOMAG BT65  HARDOX450 BT65 4,5 41,37
2 Podeszwa stopy BOMAG BT60  HARDOX450 BT60 3,7 34,48
3 Podeszwa stopy BELLE RTX68  HARDOX450 RTX68 4,6 45,97
5 The knife 75mm to MAKITA BBA520 HARDOX500 ø200 0,14 8,63
6 The knife 100mm to MAKITA BBA520 HARDOX500 ø250 0,19 9,19

Abrasion resistant steel plates   50HRC

1 Abrasion resistant steel plates 2000/6000/8-20 1 3,75

Price rebates

Seasonal
The month Rebate

January 2%
February 1%

March -
April -
May 3%
June 2%
July 1%

August -
September -

October -
November -
December 3%

       
For the payment with the cash 1%

The rebate for wholesale-customers ~ fix severally

Kurs zakupu dewiz w NBP z dnia 4,28

All rabates 0

The original catalogue numbers are stated exclusively for comparative purposes. The stated products and their prices are presented exclusively for your guidance and they 
do not constitute an offer as defined in the commercial law. ZPL Stankiewicz does not assume any liability for the mistakes in the publication and reserves the right to change 

the prices without prior notice.


